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Resultsfrom generator 1.

Tauola-bbb BaBar with PHOTO{
1~ decays
tauola-bbb rev. 1854

2014-08-18 12:44: 45

U7

e From directory:

e Total number of analyzed decays: 1617945000

e Number of decay channels found: 133 +5

Resultsfrom generator 2.

Tauola events generated in BaBar environment
1~ decays

2014-07-02 22:51:55

e From directory:

e Total number of analyzed decays: 1617945000

e Number of decay channels found: 133 + 2



Found decay modes:

Decay channel Branching Ratiot- Rough Errors Max. shape
Generator #1 | Generator #2 dif. param.

| T — 10 OV, | 23.65144 0.0012%| 23.6497+ 0.0012% | 0.00000 |
| T — VeV | | 16.7853+ 0.0010%]| 16.7866+ 0.0010% | 0.00000 |
| T — ViVe€ | | 15.0612+ 0.0010%| 15.0612+ 0.0010% | 0.00000 |
| T — TV | 9.9375+ 0.0008% | 9.9362+ 0.0008% | 0.00000 |
| T — 1 OV, | 8.6369+ 0.0007% | 8.6368+ 0.0007% | 0.00000 |
| T — T TV | 7.5008+ 0.0007% | 7.5007+0.0007% | 0.00000 |
| T — T 0 U TOV; | 3.8040+ 0.0005% | 3.8050+ 0.0005% | 0.00000 |
| T — WiVe€ | 2.8048+ 0.0004% | 2.8042+ 0.0004% | 0.00674 |
| T — T TOW, | 1.7407+0.0003% | 1.7413+0.0003% | 0.00058 |
| T — T0 0 TU Wy | 1.5021+ 0.0003% | 1.5012+0.0003% | 0.01808 |
| T — 10 TOTOTOV,| | 1.1921+ 0.0003% | 1.1924+ 0.0003% | 0.00000 |
| T — T0 Wy | 1.0865+ 0.0003% | 1.0868+ 0.0003% | 0.00000 |
| T — K v | 0.6717+0.0002% | 0.6714+ 0.0002% | 0.00000 |
| T — WVl | 0.5691+ 0.0002% | 0.5703+ 0.0002% | 0.00000 |
| T — 10 TOTOW, | 0.5247+0.0002% | 0.5251+ 0.0002% | 0.01614 |
| T — T T U TOW,| | 0.5165+0.0002% | 0.5169+ 0.0002% | 0.02312 |
| T — T T 0 TOTOV, | 0.4493+ 0.0002% | 0.4492+ 0.0002% | 0.00000 |
| T — K 1y | 0.4473+0.0002% | 0.4591+ 0.0002% | 0.00000 |
| T — 1 Kl | 0.4318+0.0002% | 0.4258+ 0.0002% | 0.00000 |
| T — KImy, | 0.4313+0.0002% | 0.4255+ 0.0002% | 0.00000 |
| T — K 1wy | 0.2649+ 0.0001% | 0.2650+ 0.0001% | 0.00000 |
| T — 1 Koy, | 0.1784+0.0001% | 0.1784+ 0.0001% | 0.00000 |
| T — K oy, | 0.1784+0.0001% | 0.1784+0.0001% | 0.00000 |
| T —nm v, | 0.1734+0.0001% | 0.1734+0.0001% | 0.00046 |
| T — TU T U YWy | 0.1621+0.0001% | 0.1622+ 0.0001% | 0.02455 |
| T K Kmw, | 0.1482+0.0001% | 0.1483+ 0.0001% | 0.00000 |
| T — K K3y | 0.0816+ 0.0001% | 0.0816+ 0.0001% | 0.00000 |
| T — K KDy | 0.0815+0.0001% | 0.0815+ 0.0001% | 0.00000 |
| T — K3 KDy | 0.0804+ 0.0001% | 0.0804+ 0.0001% | 0.00000 |
| T — K KPPy | 0.0762+0.0001% | 0.0762+ 0.0001% | 0.00000 |
| T — K K&y | 0.0761+0.0001% | 0.0762+ 0.0001% | 0.00000 |
| T — T TOTOTOW, | 0.0674+0.0001% | 0.0675+0.0001% | 0.01970 |




| T K Oy, [ 0.0671+ 0.0001% | 0.0671+ 0.0001% | 0.00000 |
[t >mmmmwmy] | 0.0654+0.0001% | 0.0654+ 0.0001% | 0.00000 |
| T — Oy [ 0.0619+ 0.0001% | 0.0620+ 0.0001% | 0.11355 |
| T Ty [ 0.0582+ 0.0001% | 0.0582+ 0.0001% | 0.01750 |
[ T S>mmrmw®w,] | 0.0484%+0.0001% | 0.0484+ 0.0001% | 0.02010 |
[ T —>mmmwy, | 0.0421+0.0001% | 0.0421+ 0.0001% | 0.02753 |
| T — 1 KKy [ 0.0402+ 0.0000% | 0.0402+ 0.0000% | 0.00000 |
| T — KIKI vy [ 0.0402+ 0.0000% | 0.0401+ 0.0000% | 0.00000 |
| T K Ty, [ 0.0336+ 0.0000% | 0.0336+ 0.0000% | 0.01563 |
[ [ >mm PPy | 0.0230+0.0000% | 0.0229+ 0.0000% | 0.00000 |
| T — KIm w] [ 0.0226+ 0.0000% | 0.0223+ 0.0000% | 0.00000 |
| T — K [ 0.0226+ 0.0000% | 0.0226+ 0.0000% | 0.00000 |
| T — Ko [ 0.0226+ 0.0000% | 0.0223+ 0.0000% | 0.00000 |
| T — Oy [ 0.0165+ 0.0000% | 0.0165+ 0.0000% | 0.02358 |
[t ommmmm, | 0.0158+0.0000% | 0.0158+ 0.0000% | 0.00000 |
[ [ —mmmyww] | 00124+ 0.0000% | 0.0124+ 0.0000% | 0.01760 |
[ ommmmwmw, | 0.0120+0.0000% | 0.0120+ 0.0000% | 0.00000 |
[ T DK Kmw] [ 00103+0.0000% | 0.0103+ 0.0000% | 0.01302 |
| T — KIm 0y, [ 0.0097+ 0.0000% | 0.0097+ 0.0000% | 0.01332 |
| T — 1 KPPy, [ 0.0097+ 0.0000% | 0.0097+ 0.0000% | 0.01068 |
| T — N Py [ 0.0093+ 0.0000% | 0.0093+ 0.0000% | 0.01579 |
| T — K 10y [ 0.0076+ 0.0000% | 0.0078+ 0.0000% | 0.00000 |
[t >mmmmfyw, | 0.0032%0.0000% | 0.0032+ 0.0000% | 0.00000 |
| T — KIm Koy [ 0.0031+ 0.0000% | 0.0031+ 0.0000% | 0.00203 |
[t ommmmww] | 0.0026+0.0000% | 0.0026+ 0.0000% | 0.00000 |
[ Tt K mmyw] | 0.0024+0.0000% | 0.0024- 0.0000% | 0.00781 |
[T Smmmmmmw,] | 00023+ 0.0000% | 0.0023+ 0.0000% | 0.00000 |
| T =10 YWWe [ 0.0020+ 0.0000% | 0.0020+ 0.0000% | 0.00937 |
[t —>mm PPy, | 0.0020+ 0.0000% | 0.0020+ 0.0000% | 0.00000 |
[t —>mPyw,] | 0.0020+0.0000% | 0.0020+ 0.0000% | 0.02039 |
| T — KIKI v [ 0.0016+ 0.0000% | 0.0016+ 0.0000% | 0.00160 |
| T KKy [ 0.0015+ 0.0000% | 0.0016+ 0.0000% | 0.00000 |
| T Py [ 0.0015+ 0.0000% | 0.0014+ 0.0000% | 0.10912 |
[ T —mmmmwmyw, | 0.0013+0.0000% [ 0.0013+ 0.0000% | 0.00000 |
| T — K Koy [ 0.0010+ 0.0000% | 0.0010+ 0.0000% | 0.00000 |
| T — K Ko, [ 0.0010+ 0.0000% | 0.0010+ 0.0000% | 0.00000 |




| T = K ] [ 0.0009+ 0.0000% | 0.0009+ 0.0000% | 0.00000 |
[ T —mmyww, | 0.0007+0.0000% | 0.0008+ 0.0000% | 0.00000 |
| T — K Ky, [ 0.0006+ 0.0000% | 0.0006- 0.0000% | 0.00000 |
| T — K KOy, [ 0.0006+ 0.0000% | 0.0006= 0.0000% | 0.00000 |
| T — KIm e [ 0.0006=+ 0.0000% | 0.0006+ 0.0000% | 0.00000 |
| T — 1 Koy, [ 0.0006+ 0.0000% | 0.0006- 0.0000% | 0.00000 |
[ T KKty [ 0.0004+ 0.0000% | 0.0004= 0.0000% | 0.00000 |
| T — Ky, [ 0.0004+ 0.0000% | 0.0004+ 0.0000% | 0.00091 |
| T — 1 0Py, [ 0.0004+ 0.0000% | 0.0004- 0.0000% | 0.00000 |
| T — KPPy, [ 0.0003+ 0.0000% | 0.0003=+ 0.0000% | 0.00311 |
| T — KI iy, [ 0.0003+ 0.0000% | 0.0003=+ 0.0000% | 0.00006 |
| T — N Py [ 0.0003+ 0.0000% | 0.0003=+ 0.0000% | 0.00000 |
[ >mrmmwwyw, | 0.0002+ 0.0000% | 0.0002+ 0.0000% | 0.00000 ]
| [ —omrmnr®yww, | 0.0002+0.0000% [ 0.0002+ 0.0000% | 0.00000 |
[T wmmrmOyww: | 0.0001+ 0.0000% | 0.0001+ 0.0000% | 0.00000 |
[ T oK mmww, | 0.0001+ 0.0000% | 0.0001-+0.0000% | 0.00000 |
[T ommm iy, [ 0.0001+ 0.0000% | 0.0001-+ 0.0000% | 0.00000 |
[t > Py, [ 0.0001% 0.0000% | 0.0001-+ 0.0000% | 0.00000 |
| T — K 1Oy [ 0.0001= 0.0000% | 0.0001=+ 0.0000% | 0.00000 |
| T — KIr Koy [ 0.0001= 0.0000% | 0.0001=+ 0.0000% | 0.00000 |
| T — 1T yywi [ 0.0001+ 0.0000% | 0.0001-+ 0.0000% | 0.00000 |
[ [ > ®Pww, | 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |
[ [t >mmwwyww | 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |
| T — KIKIT vy [ 0.0000+ 0.0000% | 0.0000-+ 0.0000% | 0.00000 |
| T — 1 KKy [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |
| T — T Py [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.02794 |
[T =t iy [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |
| T — 1 KPyyyve] [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |
[ [t =K Kfmyy, [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |
| T — K2y [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |
[T Smmmrmmyyw: | 0.0000+0.0000% | 0.0000-+0.0000% | 0.00000 |
| T — K Ky [ 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — K 10y, [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |
[ [ =K K [ 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ v —KImPyw, [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00069 |
[ [T >y, [ 0.0000+ 0.0000% | 0.0000- 0.0000% | 0.00000 |




| T — e Py [ 0.0000-+ 0.0000% [ 0.0000-+- 0.0000% [ 0.00000 ]
| T >y, | 0.0000+ 0.0000% | 0.0000-+ 0.0000% | 0.00000 |
[ & —mww, | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — 10 KOOy, | [ 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ [t —m Oy, | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — K yywy| | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ T K mmyyw] | 0.0000+0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — K KPPy | 0.0000-+ 0.0000% [ 0.0000- 0.0000% [ 0.00000 ]
| T — K KIfyw| [ 0.0000-+ 0.0000% [ 0.0000-- 0.0000% [ 0.00000 ]
| T — T YW [ 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ [t >mmyyww: | 0.0000+0.0000% | 0.0000- 0.0000% | 0.00000 |
[ T —K3m Koy« [ 0.0000-+ 0.0000% [ 0.0000-+ 0.0000% [ 0.00000 ]
| T - yywe | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — KIKI yyyw, | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ T > 0w yyyyw,| | 0.0000-+ 0.0000% | 0.0000-+ 0.0000% | 0.00000 |
| T — K 1Oy [ 0.0000-+ 0.0000% [ 0.0000-- 0.0000% [ 0.00000 ]
| [~ —>mmm Py, | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — T TOTOTOYYWW: | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — 10 Oy [ 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ T =1 KKy, [ 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ 1~ — o o PPy, | 0.0000+ 0.0000% | 0.0000-+ 0.0000% | 0.00000 |
| T — 1 Ky | 0.0000+ 0.0000% | 0.0000-+ 0.0000% | 300.00000 |
[ T K Kmywyw, | 0.0000+0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ v —m o fyyyw: | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
[ 1 —KIr Py, [ 0.0000-+ 0.0000% [ 0.0000- 0.0000% [ 0.00000 ]
|t - Pyyyywe | 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — K 1Oy | 0.0000+ 0.0000% | 0.0000-+ 0.0000% | 300.00000 |
[ T — Koy [ 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
| T — K Klyyyr [ 0.0000+ 0.0000% | 0.0000+ 0.0000% | 0.00000 |
Channels From First Generator Only:

T — U TU TU YWYYYYWr 0.0000+ 0.0000 % - -

T — K10 T yyyywre 0.0000- 0.0000 % - -

T~ — 0 TOTOYYYWWY; 0.00004 0.0000 % - -

T — K yywyy 0.0000+ 0.0000 % - -

T — N1 TOYVYWV; 0.0000-+ 0.0000 % - -

Channels From Second Generator Only:
T — KIT vy | - [ 0.0000=+ 0.00000 %] -




| T T T YWYWWe | - | 0.0000-+ 0.00000 %

Similarity coefficients: T1=0.033235 %, T2=0.058567 %
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1 Decay Channel: 1~ — 1 10V,

Number of events frongenerator 1382665918
Number of events fromyenerator 2382639219scaled to generatorl)

[ comparison of Mass(1) of pi- pi0 in channel tau- => pi- pi0 nu_tau ] SDpO ><106 [ comparison of Mass(1) of pi- nu_tau in channel tau- => pi- pi0 nu_tau ] SDpo XlOE
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2 Decay Channel: 17 — vy
Number of events frongenerator 1271576613scaled to generator2)
Number of events fromenerator 2271597821
[comparison of ass(a) of nu_tau nu_mu~in channel - => nu_tau nu_mu- mu- | sop 3 [ omparison of Mass(1) of nu_tau mu-in channel tau- => nu_tau nu_mu~mu- | sop 5
0 x10 . 0 %10
VL 9000 ;1]2
\: Lt 8000 S 10
F 7000 F ]
*F 6000 °° 8
06— 5000 06~ —16
L 4000 F ]
o4 3000 o4~ 14
b 2000 w2k o
r 1000 E .
9 0‘2 0‘4 0‘6 0‘8 1 O 0 0‘2 0‘4 0‘6 0‘8 ‘1 0

12



Comparonaf assty o i n et = e[|S0 [ Comparson ey o e e s | sop
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3 Decay Channd: 17 — v{vee™
Number of events frongenerator 1243681580
Number of events fromyenerator 2243681349scaled to generatorl)
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4 Decay Channd: 1= — 11 vy

Number of events frongenerator 1160783100
Number of events fromyenerator 216076168(Qscaled to generatorl)
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Comparison of Mass(1) of pi- nu_tau in channel tau- => pi- nu_tau | sop
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5 Decay Channd: 1~ — 11 TP10v,

Number of events fromgenerator 1139740952
Number of events fromyenerator 2139739321(scaled to generatorl)
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19 Decay Channel: T~ — 1T KDvq

Number of events frongenerator 16985984
Number of events fromenerator 26889645(scaled to generatorl)
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23 Decay Channel: 1~ — K3 v,

Number of events fromyenerator 12885649(scaled to generator2)
Number of events from 22885806

[ comparison of Mass(1) of K_S0 pi- in channel tau- => K_S0 pi- pi0 nu_tau | soP [ comparison of Mass(1) of K_S0 pi0 in channel tau- => K_S0 pi- pi0 nu_tau | sop

3 3

1o 0 ﬁ% 161 0 x10
L - 220 b - 220
W L 200 F do 200

L 180 12f d L 180
0sf- 160 £ L 160

F 140 £ 140
06— 120 08~ 120

E 100 o8 J 100
0.4 } 80 E 80

[ 60 04F 60
02— 40 02k 40

L 20 s 20

° o2 10 % or T oa 06 os 10
Compaon A ) TR SO ey 5 Ko o |[EBP 3 [ Compsonolwesst ol s et > K sop g |/DP 5

- o X0 - o

12— 300 LA I :
pi L1 é 250 12 ;— r 3 500
osE- 3200 it B 400

[ 3 08 [ 1
oo i <150 ; 300

F ] 06 1L ]

0.4 - —1100 0al ] 200
"2 =50 02 1 100
B I a5 o8 1 0 o o 0.4 @ ost 10
Comparson of Wess(t o - i et = s g ms | o P e e e o <10°
1o — <160 12 — 160
1ap —140 R —140
120 —120 L —120
s -100 o —j100
08t -i80 ost- —80
o8 —60 0af- —60
0.4 —40 [ =40
E El 02~ Bl
0.2 E E 20 C E 20
% G0 i G
Campans(iv of Mass(1) of K_SO pi- pi0 in channel tau- = K_SO pi-p0 nu_tau___| SDPO X103 [ cnmnmjn of Mass(1) of K_SO pi- nu_tau in channel tau- == K_SO pi- pi0 mu_tau ] mpo 75%%3
o r 500 o - ]
£ ] = d —200
i —400 2'5; 1

E ] B 1
o8- 2300 i ] ] 150
06 ] 15— ]

F 200 E ] —100
04 . S 5 ]
0ol . J100 osf- . L 350

o o2 ‘ 10 ] 06 0.8 ———0

50



‘Comparison of Mass(1) of K_S0 pi0 nu_tau n channel tau- => K_SO p- pi0 nu_tau | sop [ comparison of Mass(1) of pi-pi0 nu_tau in chanel tau- => K_S0 pi- pi0 nu_tau

3 SDP 3
s 0 7545% 18 0 7><10
i F ] L6 é350
i 200 Laf- =300
o8l 71150 12; *2250
0.6 :7 ; 0. :; 72200
F -|100 E —150
04— 1 06 3
L ] E —100
o 50 o E
C 1 02 —50
oy e e g 0 % " os o6 o8 1 0
cmlz o ase(1)of K_50 i 10t channel - => K_SO - porutau | SDPO 10°
F 3000
13 2500
r 2000
o9 ~1500
o4~ 1000
02 500
9 . 0‘2 0‘4 0‘6 Q‘B ‘1 - o
24 Decay Channel: 1~ — n1 1,
Number of events fromyenerator 12805377(scaled to generator2)
Number of events fromyenerator 22805546
[ Comparison of Mass(@) of eta pi- i channel tau- => eta p- po nutau___| SpP 5 [[Comparison of Mass(t) of eta pi0 n channel tau- => eta p- 0 nu_tau___| SDP 5
= 6.61e-05 *10 2ap 0.000111 <10
e ] 22 ]
b —250 i3 -250
Lo ] 18 |
g 200 3 200
1= B 14 ]
osk- 2150 raf 150
E 1 e 3]
08 —100 08F —100
oab- 1 08 ]
C —50 0.4 - 50
02 ] E J
E 1 0.2 = 1
A ¥ S| S— 10 A Y S| ST 10
Comparison of Mass(1) of ela nu_tau in channel tau- => eta pi- pi0 nu_tau | sop [ omparison of Mass(1) of pi- pi0 in channel tau- => eta pi- piO nu_tau___| Spp
14 0.000457 *10° - 0 x10°
C ] 16— 7
2 ~300 3 1500
i 250 2 400
08 ;7 é 200 1; 3300
s 150 o8 ]
E ] 06— —200
0.4~ —100 E ]
F 1 s 1100
02 :7 E 50 0.2 E
07 0‘2 0‘4 0‘6 O‘B ‘1 70 % 0.2 0‘4 0‘6 0‘8 ‘1 70

51



Comparison f Wass(1) of p _au i chamel a > sap pomar | SpP [ Compariso of ass(1) af po it m harei - = e p pomi s | SDP

o x10° o x10°
12— 200 Laf 200
1:, 180 LE 180
L 160 “E 160
08l 140 1= 140
F 120 08l 120
06~ 100 E 100
£ 80 06 80
“? 60 0al- 60
02 40 £ 40
g 20 . 20
o T e s tos - 1 0 % T e T e - os 1 0
mpayfm o o1 o1 p-po et > g pon e o EJO%3 \ ijk. Wasoll o i - s cannel > o p-po o] o <10°
12 ] F 5250
L ] P —
£ 400 g ]
L E 08l —200
08 —300 E 3
06 e ] o8|~ —150
s —200 E ]
04— ] 04 E 100
o.z; 7;100 0.2} —50
9 - U.‘Z 0.‘4 0.6 Q.‘B f‘l . 0 0 . 0.‘2 0‘4 Q.‘G 0‘8 :‘L 70
Comparison of Mass(1) of eta pi0 nu_tau in channel tau- => eta pi- piO nu_tau | SDP. 3 [[Comparison of Mass(2) of pi- pi0 nu_tau in channel tau- => eta pi- pO nu_tau | SDP 3
x10 x10
18E 0 | 16 0.00046 1350
i —{250 L4f 300
14 ] E 3
e 200 N3 <250
E ] 1— =
1= ] £ =200
o —150 08 B
“E 3 £ —150
06 =100 06 E ]
04f . 04 ;7 E 100
02F E 50 02F =50
% 02 04 o5 o0 10 % 02 o4 6 o8 10
‘Comparison of Mass(1) of eta pi- pi0 nu_tau in channel tau- => eta pi- i0 nu_tau | sop 3
x10
B o 3000
it " 2500
osf —2000
06— é 1500
oaf- 1000
02~ ESOO
% 0z 04 os 08 0

25 Decay Channel: T~ — 1T 1T T YWy

Number of events frongenerator 1262307 1(scaled to generator2)
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‘Comparison of Mass(1) of pi- pi- In channel tau- => pi- pi- pi+ gamma gamma nu_tau
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26 Decay Channd: 17 — K K1 v,

Number of events frongenerator 12398326(scaled to generator2)
Number of events fromenerator 22400127
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Comparison of Mass(1) of K- K+ in channel tau- => K- K+ pi- nu_tau
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27 Decay Channel: T~ — KK,

Number of events fromenerator 11319816(scaled to generator2)
Number of events fromenerator 21320259
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28 Decay Channel: T~ — K™K,

Number of events fromgenerator 11319294(scaled to generator2)
Number of events fromenerator 21319359
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[ Comparison of Mass(1) of K- nu_tau in channel tau- => k- K_LOnu_tau__ | §pp
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31 Decay Channel: T~ — K~ K3y,

Number of events fromenerator 11232025 scaled to generator2)
Number of events fromyenerator 21232102
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Number of events fromgenerator 11002015scaled to generator2)
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Number of events fromgenerator 1942286
Number of events fromenerator 2941887(scaled to generatorl)
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Number of events fromgenerator 1783557

Number of events fromenerator 2783416(scaled to generatorl)
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Comparison of Mass(1) of pi- nu_tau in channel tau- => pi- K_L0 K_LO nu_tau
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46 Decay Channd: 1~ — 1 TPy,

Number of events frongenerator 1267140
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Number of events fromgenerator 125524 1(scaled to generator2)
Number of events fromenerator 2256442

134



Comparison of Mass(1) of pi- i-in channel tau- => pi- pi-pi pi i pi0 nu_tau | sop [ comparison of Mass(1) ofpi- - n channel tau- => p-pi- pi-p piv pi0 nu_tau | sop

- o Py o
uE d35000 G o 35001
1 2;, 53000( LB; €30001

" “2s000  ME 2500
osf- “ooo 20001
osf- J1s00r  oef 15001
o4l Jd1o00r  °°F “10001
o2 L 5000 b : 5000

o W‘o‘a‘ s ‘1‘7:0 0§ B | ‘1‘7:0

Compatmof Massi) . i n e s = g it e e g | SDPO [ Comparison of Massy ot p i i sl = o - i i po 10 ‘SDPO

= —H 14— =
i: ™ Jssooc F - =35001

g 430001 i 130001

i 25001 T 2500
osf- “20000  °F =20001
osf “1so0c  F ~15001
o4 J1ooor  °“F “10001
o2 45000 o2f —5000

o R N

Comparon o assi) o p 0 chamel @i = i p - poroar | SDPO [ Comparon o assi) o p i arannet i = - v p e po s mpo
£ - R 2500
N3 o b 3000

= <2500 1= 320001
osf —20000 ok 2000
osE- 1500 osf- =15001
0al- —1000¢ oaf= [ —1000t
02l 55000 02f- 725000

% ' 0‘8 e ‘1 ‘7:0 o 0.2 770‘2 e 0‘6 e 0‘8 e ‘1 7:0

Compatsan of Hasst) o B B ahanmel @ = B P e P POl ‘SDPO [ Comparson of Hass(l) o - i ramel i > - i p i i 0 ta ‘SDPO
. M 35000 e g 35001
- 41 30001 £l 130001
16 | —25001 F —2500!
- L “20000  sE 1 =20001
g - —;1500( £ L —15001
oo 1 ~1000¢ g ( ~10001
ot , “s000 b ! ~5000

o o oa s os  os . 1 -0 O T E T od T os T os “o

Comparon of Mase1) o p i nchamre i > i - e e por s |16 [ Comparson ot Masst) o p o cham = - v i e pomias | SDP
24 0 - 0
22 ™~ Jssoor T 3500
" {30001 1= =30001
i 1 225000 s I 25001
12 L —2000¢ o.si L —2000t
o T 15001 Mé L —1500
0s 1 J10001 2 L 10001
o L Js000 5000

135



Comparson of Mass() of p-nu_tau nchannel tau-=> pi-pr pprepre pO s | S [ comparison of Mass(x) ofpr-pi in chanmel au- => - pr-pi- pi+ i+ 0 nu_ta | sop
E 0 3so0  F Di—
e 3000 °F M —35001
12 ] HE 230001
£ —2500( 12 1

1= [T ;2000‘ £ —25001
o8l L 1 wsb- —20001
oo~ L Ssoor J15001
04;7 r L 21000( DA; | élOOO!
0ol 5000 ol | L —5000

o 0.2 o os T os 10 % o oo 10

Comparionof Massi) o p i n el = o e g ponamn | SDP [ Comparian of Masst) o - o chamr = i g i e pomaas || SO
24 (0] _| 147 0 4
22 r 135001 r —3500!(

2 | 1.2 - E
18 {30001 13 3000
16 —2500 F —25001
14 E| 08— B
12 —2000¢ F —2000t
" dis000  °°F —15001
06 10000 °4F —1000!
o =5000 oz —5000

OO “ O‘B ‘l - 0 0 - 0‘8 ‘1 - 0

Comparon o ass0) ot - _tai mcharne = - ppp0nm | SDP [ Comparson o ass) of p i el i = p - pmia | SDP

er 0 35000 DN
185 = ] 22 - —3500!
Lob- é3000l 12 é30001
e 425000 46 —25001
Ve —20000 —~2000!
o.a; *21500( 1 é15001

e ] 0.8 3
oot 10006 o —10001
04— ] E|
N —5000 o4 —5000

E L ] 0.2 3

% 02 4 os s 10 % os 10

Comparon ol Massi) o p P chael i > g v v s | SDP [ Comparion of Massh) ot chamel s> i pomiar | SDP
1ep oE— Lo 0 _3s500i

E : 35001 E E
" {3000 M —3000!
He 80006 ~25001
12 25001 £ ]

1; *22000( os; 220001
oo 215000 ool <1500
v 10000 odf 10001
oaf- 5000 oz ~/5000

% os 10 % 06 o 10

Comparison of Mass(1) o pi IO n channel @y => pi- pi-pi- i* pi* PO nu_tau | sop [[Comparison o Mass(t) of piv nu_tau in chamnel - = pi-pi- pi-pie bt pOTU_tas | SDP.

F Ol F 0 3500

e . —3500( e E

£ El [ —3000!
25 —3000t 1= ;2500

= E r — (

£ =25000 o5 | | 1
T S0 ] ~ 20001

g 215001 g EY

i3 “10000 T {1000
osf- S5000 o2 ! 5000

% o s e 10 o 0.2 S s e 10

136



Comparison of Mass(1) of pi0 nu_tau in channel tau- => pi p- p- i+ pi+ pi0 nu_tau | sop [ comparison of Massi(z) ofpi- pi-pi-in channeltau- => pi-pi pi-pi pi+ pi0 nu_tau | sop

12— 0 3500t C 0 |
C - ] 12 . —25001
£ E 3000 E ]
E 25001 T 2000
08— B E ]
F 20000 *°F 15001
0.6— | . 1
[ —1500! oo ]
ok ] i ~11000!
F “10000 o4 ]
02~ 5000 o2 35000
0"4_‘_052_‘_‘_77.‘4;‘ B . | o) E—— R T o
Compation Ve f - - i el e = i o i o[ S5 [ Compatson i Mass(y o - p i chaameiis = i - e e por s |G
12 0 = 14— 0 =
g : “J25001 g N 25001
r 7 12— |
1— | C 5 ]
F —{20001 A= —20001
08~ ] E ]
L —{15001 08— —15001
0.6/~ ] E ]
ol dwo00r  *°F 10001
r ] 04f- ]
oz~ *:5000 02; *:5000
0 3 O‘B f‘l - 0 0 - 0‘8 :‘L ;0
Comparson o assi) o p i 0 chamel @i = o 5 p o po ] Spp [ oot 5w e s o pronw | SDp
2F 0 b 35 0 4
1.8; *:2500‘ g ™ —2500I
E - 3 =] m|
16 1 C ]
“; *:2000( 25E 5 7:20001
. Jisoot  ab I 1500
o8- Jaooor  F 4 1 10001
06F ] e {—— ]
oeE- 5000 T 1 ~5000
02F- 3 E i ]
% og 10 - S M
Comparson eSS ol - i chal i > e o o[ S [ Compatison ot Mase(y o p i chanmetiau= i i e pomiias | SDP
r 0 | 161 0 |
14— . —25001 e - —2500!
3 “20000  12f 20001
11— | E |
C ] = ]
08l —1500t £ —1500t
£ ] 081 1
o8 —{10001 06 —1000t
04 9 0af- ]
L —5000 £ —5000
02~ ] 02F ]
% 08 0 % T E——
Comparison of Mass(1) o p-pi p0 n channel tau- => pi-p- pi- i+ pi pi0 nu_tau | sop [ comparisonof Mass1) o - e n chamel = pi- - i i+ PO ot | sop
£ (0] 2.4 0 |
18F . —2500! 22 - —25001
16/ 9 2 | ]
14; —2000t 18 9 —20001
E ] 16 L .l
“E J1s000 e 11 15001
1= ] 12 1
08" {1000 ! ] —10001
0.6— N 0.8 L 1
e ] 0.6 |
04 —5000 04 r 1 —5000
0.2 ;7 r . ] 0.2 r ]

137



Comparison of Mass(1) of pi- i+ pi+ in channel tau- => pi- pi- i- pi* pi* pi0 nu_tau | sop [ Comparison of Mass(2) o pi-pi+ pi0 in channel tau- => p-pi- pi-p piv p0 nu_tau | sop

35 0 _| r 0 |
£ . 2500t F —J25001
E L 1 25— 7
3 r L ] C ]
E PoL 2000t = —2000!1
25— ] . |
£ . S15000 b 1500
“E b 410001 ha 10001
1= B r ]
osl —5000 osf- | 5000
of o —0 o055 =g 10
Compaton ! Wast) e o charnt = i e e oy | SDP [ Comparon o Wasst) o pi i channe - =>pi- i i i o miau___ | SDP
35 0 24 0 |
E _ —2500( 22 . 25001
3 18 1 2 ]
E . 20000 18 —20001
25 E r L - 1.6 ]
o -1s00t M —1500!
) i 1 “10000 . 10001
1= “‘“—1 ] 06 .
05:7 L f5000 0.4 fSOOO
g r ] 0.2 1
9 ' Ffz_‘_‘_‘_o.‘A_‘_‘_‘—o‘s ' 0.‘3 ‘1 —0 % o‘s ‘1 -0
" 0t i o et = g o | sop I ] sop
25 0 | 18 0 |
F - 2500t ok —{25001
3 15 ] E ]
asb —20000  MF —20001
E r L 1 12 E ]
2 d L —1500( 1 415001
15 L E 08 1
: S {1000
1= 3 ] = ]
F [ T —5000 N 45000
05 d 1 9 02 .
% ' 0.2 0.4 0‘6 ' 0‘8 ‘1 ;O % 0‘8 ' ‘1 ;0
Comparson of Wass0) of pp i n channe == pr- - v o O tas | SDP [ Comparsonof Mass(t of i m chamel i > i i e 0w | SDP
24 0 | P 0 |
22 —2500( “F - —2500!
2 1 3 Pl ]
18 —20001 E F —|20001
1.6 9 25 ; ]
e -15000  2p ol 15001
o J1000  F N 10001
06 ] 1= E
0.4 —5000 E —5000
] 05— ]
02 ] E ]
% os 10 % T
‘Comparison of Mass(1) of p- pi- pi0 in channel tau- => pi-pi- pi- p pit pi0 nu_tau | sop [ comparison of Mass(s) o i p-nu_tau i channeltau-=> pi-p- i pie i 0 n_tau | sop
- 0 | - 0
14~ i *:2500‘ 12f n 25001
2 —12000! i 520001
1= ] 08 o 1
o8l L —1500! E —1500!
£ 9 06— ]
061 . ~11000( c ~|10001
0.4 r H bl 04— 1
b | 1 —5000 02l —5000
o o2 04 55— o0 op——— =0

138



Comparison of Mass(1) of pi- i+ pi+ in channel tau- => pi- pi- i- pi* pi* pi0 nu_tau | sop [ Comparison of Mass(2) o pi-pi+ pi0 in channel tau- => p-pi- pi-p piv p0 nu_tau | sop

0 16 0

3

o

a3 . —25001 E B —25001

N & ] L4 25 J
E 4 L 2000t 12l —2000!

E d 9 1= 3
2= 15000 E —|1500(

E 1 4 1 08 il
“E 4 d10000  osE 10001

b ] 0af- ]

E 4 —5000 F 5000
0.5 S B 02— ]

of gt 04 55— o0 % "o s 10
[ T —— | o [ Comparion o assi) o i el i = i o o po s || SDP

- 0 o o

£ m 125001 E - 25001
L [ . e il ]

i 20001 2sE L —20001
o3t Jso0r 2 . ~1500
06— 1 = r 1 3

g J1o00r  “E 10001
04— 1 1= ]
o ~5000 ok 5000
of o L0

v ] sop [ ] sop

- 0 e o
b —2500! “F —2500!
£ ] W ]

1= —2000¢ F —20001

[ ] 08— ]
ooE 15000 F 15001
06~ 1 06— 1
ya E 1000 osf —510001
ool ~5000 02l 5000

o “os 0 o5 o2 04 S6 " as 10
Comparison o Wass0) 1 i pi i chamel w > i poni s | SDP [ Conparison o asst) of p i+ 0 el i i o po s | SDP

24 0 b 35 g
22 - —25001 E - —2500!

2 ] 3 r ]

18 —2000 E roL —20001
16 ] 25 ; 1 1
L —15001( 2F ] —15001(
12 — E - 7
o “10000  F b S10001
0s 1 = T ]
04 —5000 E L 5000
B 05 L B
0.2 - E L 1
% os 10 % o2 0.4 o o8 10
Comparisonof Wass(2) of pi- g hu_ta i channel - => pi- pi- i i i 0 n_tau | sop [[Comparison af ass(1) of pi-pi o n chamnelau- == pi-pi- pi-pi* pit pOTU_tas____| SDP.
- 0 24 o
b A 25000 22 - —25001
£ 9 B 2 r 3
M 5 220000 18 r 120001

1 T ] 16 1
08 ; d L 7 15001 1‘2‘ 7: 15001
o5~ r “10000 . 1000
0.4 i ] 06 .

0 2:— i —5000 04 —5000
C Y ] 0.2 ]
oGy 04 B IR S (] o "ok =0

139



oo e =5 o g prmm|/&DP T T P
r 0 24 0
8 I —25001 22
16 ] 2
14 —2000¢ 18
E ] 16
12— 71
E - 14
E - (
1= ] 1500 1
0.8 il 1
E —1000t¢
= ] 08
E - ] 06 i
04E —5000 04
0.2~ ] 0.2 [
SRR N U S P TS i P S U = S R EF TN NRY
° 0.2 2 . 0 % 02 0.4 0.6 08
oo e 5 p ey o o o onim ] 6P T —————————
35 0 147 0
£ o —2500( £
1= E 12—
E —2000¢ F
25— ] 1=
2 —1500¢ 08f
1sE- ] 06
E —{1000¢ s
1= ] 04—
E -5000 E
05— ] 0.2 -
F 1 [ ’ L
0 0.8 1 O 0 0.8
o I=p [ oo an som e = o] Spp
1o 0 J 35 0
E —2500( =
r ] 3 L
= B E
r E 2000t 25
08~ ] E b
r —1500¢ 2= L
06 9 E
r B 155
C —1000t E
04— q 1= =
02 -5000 o0sE | 1
C L . [ —— E A I =Y L
0 08 10 o 02 0.4 0.6 08
oo a7 o e o 5 s ] sop [Comparean st sty i o e ar = 5 o oo e ] Spp
0 0
14— —2500! E
F I 1 12 r
12 L ] L
£ r —2000¢ A=
i ] £
o0sf- —1500¢ 081~
06 ] 06
s —1000t¢ L
04— ] 0.4
£ —5000 F
02 ] 02F
L L r 1
0 10 o 0.2
oo e
£ 24 0
12 —2500( 22 .
[ ] 2
1= —2000t 18
L ] 16
08— 4
L ] —1500¢ 14
r - 1.2
0.6— 4
n d L ] 1
L —1000t¢
0.4 = i L ] 0.8
of T L 1 5000 04
- — 0.2
S Y Y I e S R IR
° 04 0.6 0.8 0 %

140

1
1

25001
20001
15001
10001

5000

25001
20001
15001
1000t

5000

25001
20001
15001
10001

5000

25001

20001

15001

10001

5000

25001

20001

15001

10001

5000



Conpaisona ey e e v = e pom | SDP [ ommanot ey oo e o m i = o e s | SDP

0 3 0

F ~ —2500! F - —{25001
12 Fh ] sE Ih ]
N —2000 F ] 20001
E ] 2 r g ]
08~ —11500! £ d L —1500!
E — 15 - 4
0.6— ] b - ]
r 1000 E ] 10001
0.4~ 1 ' 1
of /5000 osE- 5000
of gy e 0 - B R S
Comparion ot ass) e et =5 oo pomm | SDP [ oottt - pom s =5 5w s pom | SDp
2 0 25000 o O 2500
2 P ] 16 s 1
iz ~20001 1 20001
14 ] 12 ;7 E
H — 15001 3 15001
1 ] 08 ]
08 —1000t¢ osE- —1000!
0.6 1 E ]
0.4 —5000 o4E {5000
0.2 ] 0.2 ;7 1
OO R ' ‘l = 0 0 B 0‘2 “ ‘1 ;O
oo ! sl e o et s o p-pe e o[G0 [ Compatoon ey ot - o et e o | SOP
F 0 25000 E 0 2500
14— o ] E - ]
£ 5 ] 18F 47 ]
12 —2000¢ b I3 —20001
i 9 L4 d 1 1
F 1500 1ob 5 15001
08— ] E ]
L - 1= ——— B
o —1000¢ osf- 10001
0.4 ; ; 06 ; E
= —5000 04F- r L —5000
02 ] 02f iy L 1
% —1 0 0 gz 04 o6 o8 1 0
Compareo o Wese() 1 B ¥ n A = i e P | sop [ Comparson of a1 of - T chan = - - B i i 0 ] sop
oF - O os001  ef - o 2500
F ] 14f .
1= —2000 LE 4 —20001
*E 15001 = 15001
06 ] 08— il
F —1000¢ osE- 10001
04— 1 E ]
N “s000 F 15000
F 1 0.2 ; 71
of oz o % 02 0
Comparson of Mass(1) f p-i- i+ u_tau n channel au- > i i pi- i i+ 0 u_tau | sop [ comparisonof Mass1) o - pi 01 channet == pi-pi- i+ i PO _taw | sop
22 O 25000 ssE o 2500
2 1 ] £ 48 ]
18 I 120001 ° gk E
] F =2000!
16 5 7] 25 d ]
o ] 115001 o 1L 15001
o P I “10000  *F y 10001
06 r ] 1= > 1
04 ¢ | 5000 E r L 45000
02 r ! ] : i 1 ]
of g, e el of gy e = g

141



T T T P

(oot g0

> i pi- pi- p pis 0 nu_ta

] sop

0 2500(

F 4 35
16— . ] £ -
= ] - L
L4 —2000t E
12— ] 25 q
1= —1500¢ B 1
08— ] £ ]
£ —1000t¢ S
06— ] E ]
E — 1= |
04 ] E T
E —5000 E
0.2~ ] 05 L
F e I A d
° 8 0 o 02 0.4 0.6 08 1
T T T = EETrrrr—————————
0 =
35 —25001 E
E r 1 12f o
3 r ] C
E r o —2000¢ 1=
25 | L ] L
C 4 08—
pas d L —1500¢ E
E ] 06
150 F L ] 5
E —1000¢ E
P = ] 04
ost- 1 E 5000 02l
= I B T I | C
0 0.2 0.4 0.6 0.8 1 0 0
Compareon e o pom_ai s 5 o o oo s | §DP [ Comeram ot st o - p s et 51 7 e e oo | 6P
18 0 2500 s
o 20000 CF [ 5
L4~ ] E r
C ] 25— 4
12 1 £
E —1500¢ N el
1= ] E
08 ] 15
E —1000t E
060 ] E
E ] 1=
04 —5000 E
02 ] 05F-
F | . [ E -
0 08 10 o 02
oo e o 3 o mes S5 o prpe e |&0P [ s 5 o s S o /S0P
0
L4 —25001 350
12— ] ] 3F ri
E 2000t E .|
1= 9 25 i
08— —1500t 2 ; = L
0.6/— il 150 i
s —1000¢ E
0.4~ ] = L
£ —5000 E
02 1 05— -
C - [ F L P NI S Y
° 0.2 10 o 0.2 0.4 0.6 0.8
T e T T P
0 3
12~ 25001 F
r ] 25F rl
= —{2000¢ £ |
L ] A=
08 ] E
L —1500¢ £
0sl [ L 1 15—
r r L —1000t E
04— 1 1
02l r L —5000 0sF-
S Bl - 00 N R Fooi o
° 2 0.4 0.6 08 0 o 02

142

0

0

25001

20001

15001

10001

5000

25001

20001

15001

10001

5000

25001

20001

15001

10001

5000

25001

20001

15001

10001

5000

25001

20001

15001

10001

5000



Conparsont Nassy i e i et 2o v pani | SDP [ ConvaisonctHassirat - pom i st = e somims | SDP

0 25001 14 0 2500

12 1 o 19 g
g “20000  °F I 20001
= ] = el ]
osf 15000 ,F ﬂﬁ —15001
osf ] osE- 1 ]
F 10001 F | —10001
04 ] 04— r L 1
F 15000 F . —5000
02— 1 0.2~ d 9 ]
of 1l Tl g of oy g = g
[ ———————— | o [ Comarona s o o o s e s = e pomm | SDP
o - O psoor  esf o 2500
r “a0000 F . {20004
12 ; 25F ] 9 ]
i 15001 B ] 5 —15001
08 ] E ]
osE- 100010 E r L —1000(
E ] 1= . L .
*E 15000 E . —5000
02f ] 05 E 1 ]
07 0.‘2 ‘l ;O 07 0‘2 ' = 0.4 0.6 e 0‘8 ‘1 ;0
Comparea o ety o i po i st = 5 o o s m | Spp [Comarsonai st oo pom v s = o e s pom e | SDP

24 0 2500 16 0 25001

22 =

] 14 i E
2 1 £ 7
= ~ 20001 " 20001
16 ] £ ]
14 —{1500¢ = —15001
12 ] 08 ]
N —1000¢ o6l 110001
0.6 ] 0.4 E ]
0s 15000 F 15000
02 E 0.2 E E
o el 10 % 10
Compareon o Wese() 1 B Y O M el = i Y O | sop [ Commreon e g w5 e one | SDP
35— 0 —12500! e 0 25001
3 T L 52000‘ L2f- —2000!
25 4 L ] = 1
2;7 o L *:15001 osf— *:15001
vE J1o00  osE —{10001
1= 9 0af- ]
E —5000 F 5000
05— ] 02— ]
{0 o Lo
Comparson of Mass(1) fp pie 0 _tau n channel au- > i g i pi i 90 10_au | sop [ comparisonof Hass(a of i piomo_au n channl - => pi- i - pi i+ PO _au | sop
E 0 25001 F 0 25001
Lo Ty ] 14 a b
14 I 4 —12000¢ o 20001
12 i 1 ] £ ]
i Lt 415001 g 15001
s r L ] 08~ ]
E r 2000t osf 10001
0.6/~ | al ] n ]
o4 r i 15000 E 5000
02 1 ] o2 ]
of v, e =l ol o

143



‘Comparison of Mass(1) o i pi+ 0 nu_tau inchanneltau- => pi-pi- pi- p+ pis pi0 nw_tau

] sop

0

1

S

1

S )

®

0.

y

0.

IS

0.

o

)

Comparison of Mass(2) of p-pi- pi- ppi0 i channeltau- => p- pi- p-pi pv pI0 nu_tau

] sop

2

o

~

1

e

»
AR RN AR RN AR R

0.

@

02

Comparison of Mass(1) of pi-p-pi- i+ pi0 in

2

o

~

1

o

e

0.

@

pi-pi0 Mt

0 nu_tau

24
22

18
16
14
12

0.8
0.6
0.4
0.2

)

0.2

o L N

-

0.4 0.6 0.8 1

pi- i+ pi u_tau

> i p- pi- i piv 0 nu_tau

3

o

w

2

2

~

1

o

e

0.

@

Sk

°
o
L
L
ol i
o ‘Wl
il
|
0
|
;
Py I

o

2500(

2000¢

1500t

1000t

5000

3000¢
2500(
2000¢
1500t
1000(
5000

3000¢
2500(
2000¢
1500t
1000t
5000

2500(

2000¢

1500t

1000t

5000

2500¢

2000!

1500t

1000t

5000

(oot sl i = g

o
Ny
o
=

|

o a wass o - i e a3 . PO

35

[
N o w

-

o of Mass(1) of pi-pi-piv i+ pI0 i channeltau- => p- pi- pi-pi pi+ pI0 u_tau

oot Vs 5 o i s -

[
) ~

-

05

144

PRI R
0.2 0.4

I
0.6 0.8 1

30001
25001
20001
15001
10001
5000

25001

20001

15001

1000t

5000

25001

20001

15001

10001

5000

30001
25001
20001
15001
10001
5000

25001

20001

15001

10001

5000



Compationa Wass ol e s et o oo | SDP [ ConvaisoctHassirat - i e pom e s = - o e o | SDP

= . £ 30001
N - H2s001  ME - ]
°F Il 1 12 —25001
= —2000t( £ 3]
E L 1 i <2000
2 r 15001 08 1
E J L 1 E —15001
“E 1 d1o00  °°F 1
s ] L ] ol ~ 1000
o5 T W 55000 ,p 5000
of gl gy 10 o ol =g 0
Compatson o Was) ot - b bt > - i+ poraa | S [ Comparsan o () of - o 0 1 vt e > - o ai | SDP
= 0 16 0
12 _ 125001 F . 25001
i T ] 14 E ]
v J20000  1zf “20001
08— ] 1= 1
i —15001 F —15001
06 ] 08E ]
ol 10000 osf- —10001
L ] 0.4 1
0ol 5000 F 5000
F 1 0.2 :7 |
0 3 0.‘2 ‘l - 0 0 3 0‘2 ‘1 ;0
o i chreel s e ] Spp [Comparson of Mass) of i i pO i s i => - o pO i ime | SDP
35— 0 3 18F 0 .
E - —2500¢ Lo —25001
3= F il E ]
asb [ ] —20000  MF —20001
g F L ] 12 ; |
2 r —1500! 1 —15001
155 r 1 ] 08 ]
F d —|1000! o8l —1000t
1= = ] E ]
ok fm’\ 1 —5000 e —5000
E r ] 02— ]
% o e s 10 N 0
Comparson of Mass(1) of - i- it pi 0 nchamnel - => pi pi-p- i+ pie 0 1u_ta ] sop [ comparson ofMass(t ofp- i pi pie mu_ta i chameltau-=>pipi - pis pis pO Uty | SDP
E Q0 3000t E Ui—
14E B ; 2.5: _ j25001
12 125001 . r ]
i ] g —20001
F —2000 F 7
08 1 L —15001
F —1500¢ E 1
06 ] i —{1000t
E 10001 E ]
04 B C 7
oo J5000 % 5000
o o2 10 % -0
- 0 - |
o J25000 2 525001
3 “I20001 't 20001
= ] o8- .
o8- 115001 r —15001
C 5 ] 06— ]
08 d —1000 r —1000(
e 1 04— 4
0.4~ 1 1 C ]
02f I L —5000 02 —5000
of 5 _‘T‘i‘_‘_o‘a_‘_‘_‘_ofs*‘ TR i ol -0

145



Conpaison Wassy i 0 et = o pepomoas 'SP [Compaan ot syt v pom i e = o e omas | SDP

16 0 r 0
E - J2s000  ,F - 25001
14— bl n ]
121 —2000t s —20001
= 1 F ]
E 15000 *°F 15001
08 ] L ]
£ | 0.6 - 1
051 10001 F <1000
£ — 04— |
0.4— ] C ]
F -|5000 0ok —5000
02 ] ] “r 1
1 - R S % T
Tar 0 40000  ooF 04000
1ol Lo ssoon 2 ] =3500!
£ A L] G30000 L F I 30001
osE- =2500 LaE —25001
r 20001 3 [ —20001
0.6— 3 E ———— B
E r 15000 osE <1500
o —1000t osE- —1000f
L 7] 4 U J
02t S5000 . s 25000
07 0‘2 0‘4 0‘6 ' 0.8 ‘l ;0 % ' 0‘2 0‘4 ' 0.‘67 0.8 ' ‘1 ;O
, - | sop [ compurn s - | sop
e O 40000 s o 4000
o [ =35000  o- 7 Zsso01
sob 230000 . F 14 —30001
£ ~|25001 L —25001
E —2000 F —20001
15— B 15 r 3
g -j15001 g ] 15001
ks —1000t i lHlW’“f W 10001
s —5000 0sE —5000
% 02 o4 10 % 02 04 s 08 ~10
£ O 40000 teF O _4000
18f- T 235000 12f [ =35001
LoF b —3000! W —3000!1
e —25001 E 25001
12 r E 08 J
£ d 20001 F 2000
= 4 06— 4
o8t d 15001 F —15001
e T J10000 P {10001
0ok T —5000 02F =5000
% o2 esoe - os - 1 0 N T 10
ot sy e o i s o oo gom | SDP [ ottt et o] SDP 3
x10
asE 0 40001 12 r 0 |
£ T Zssoo0 o | 3250
25; F 1 7;3000‘ OBi {200
i3 | 125001 E ]
: | 20000 osf 5150
15— 3 - 1
g , S15000 o, —100
i3 r —1000t r .
osf- r 5000 02f *:50
of o es T oe T oe T 30 o5 B - R w

146



48 Decay Channel: T~ — TT 1T Tt VW

Number of events frongenerator 1200842

Number of events from 2200615(scaled to generatorl)
[ Comparaen o e 1 -t > e g | sop [em | sop
0
22 - 22001 = g
2 1 2000 E d —125001
18 1800t 251 ]
16 1600t F —20001
e 1400t 2 ]
12 1200 o 15001
1 1000t E ]
08 8000 £ —1000t
06 6000 F ]
04 4000 o5 45000
02 2000 L 1
05 0 oF ‘1 -0
x10° | x10°
14 B 35 —
E —180 E 3180
12 -|160 sE —160
1 —140 250 =140
E 120 F —120
e 4100 °F 100
osf— 80 L5 —80
0af —60 i =60
F 340 E =40
oL 20 oL =20
ol o o 0 o
= Jsop 3 [ o
o 0.00446 *10 -
E_ 180 F —1000!
3 —160 250~ ]
E 140 L —8000
250 E 2F ]
F —120 £ 16000
i 100 15f- 1
s —80 1; —4000
fi= *:60 E ]
£ =40 E ]
ook o osf- 12000
O: ‘1 7:0 0: ‘1 ;0
Compatianl I | sop 3
, . 0.00624 <10
L 25001 ET 180
F ] = —160
1= bl n 3
g —20000  .F 140
08— B r =120
3 15001 osf- —100
F ] F =80
osf 10001 0al- 60
oo —;5000 oz :5‘2‘8
of 0 o 06 05" 0

147



\ = TR

v o J sop 3 3
o o 10 - 0.00467 <10
E —180 Eo_ —180
o 160 250 —160
asb 140 o =140
E 120 E —120
i —100 15F- —100
15 —80 E —80
P 60 T —60
3 —40 osf- —40
E =20 F =20
N 7 S| S S B¢ - 1 N SN
[ - ] sop 3
ooo7s  *10
—1000! 1 —180
] 12f —160
~8000 F —140
1 i3 —120
6000 oo 100
{4000 0,5;7 280
] 04f EBO
—2000 £ —40
1 0.2; 7;20
‘1 —0 o 0‘5 0‘8 ‘1 —0
3 w ] sop 3
x10 0.00566 *10
—180 226 —180
-|160 2 —160
—j140 L —140
120 i —120
—100 12 =100
—80 1 =80
—60 o —60
40 - 40
—20 02 —20
‘1 ;O OD 0‘6 0‘8 ' ‘1 ;0
[ » w__]sop 3
120 0 x10
v —7000 F 200
i 46000 g igg
os]- 45000 osf- 140
b —4000 oslL 1(2)8
E —3000 H 80
0.4— B 0.4+
F —2000 o 60
02— 3 o2+ 40
: -1000 i 20
° 10 % 0.2 0a o6 os 10
3 v = ]spp 3
- x10 . 0.000285 *10
E 200 2 140
e o i “120
2% 0 140 08 ; 7;100
o= 120 H E
15l 100 osft 180
H 80 b —60
1f 60 r —40
0w
T 7 S| S S ¢ o S R w—’

148



o = ]sop \ X o = P

3 3
o 10 o 0.00542 <10
200 E —1140
180 oL E
160 o ;120
140 l: 100
120 2 g E 80
100 i ]
30 1.5g *;60
60 1 =40
‘218 05 %17 ézo
N S S oo 0 o as 10
compan Xy E =] sop 3 [Commmonormes o e e e e g g w | SDP
o 00176  *10 0 1800
—140 22 116001
3 | 2 J
E —120 16 —14001
25§ 4100 16 —1200(
& 1 14 4
2 80 L 10001
W Js0 A —8000
F 1 0s —6000
1 —40 06 E 4000
H E 0.4 3
120 <2000
O \U‘E — 0.‘4 B 0‘6 B 0.‘8 B ‘1 — O 00 B ;0
~__ Jsop [
0 -
22 52000t 25~ —2000!
2 —1800( F —1800!
18 —1600( 2= —1600!
16 —1400( F —14001(
14 —1200( Lsf- —1200!
v —1000( F —1000!
o —=8000 i —8000
o6 —6000 F —6000
04 —4000 s —4000
02 —2000 F —2000
[ -0 0, —0
e [
355 | 14 |
F 52000t E —|10001
s —1800! 12| ]
E —|16001 s —8000
3 —1400¢ F ]
N 412000 osi -6000
E =1000! E ]
15 E 0.6[— 4
E —8000 E —4000
1= —6000 04~ .
osk —4000 s —2000
F —2000 “F .
of 3 of —o
Compon I
35 1 £ ]
£ 25001 ° —25001
= ] 25 3
255 —2000¢ E —20001
£ | 2 ]
i 15001 o 15001
15[ 1 = 3
F —10001( £ —|10001
= ] E 3]
osk- —5000 s 5000
o o e o

149



0 - o
22 - ] Lol B 1600t
2 J2s000 - E —l14001
1.8 71 E |
16 2000 i 112001
14 ] Wi —|10001
B Ea 3 8000
08 —1000¢ osf- —6000
08 55000 04f —4000
0s ] 0zf- —2000
o s 0 o —0
] sop 3 - = | sop 3
000204 %) 0 )
22 - 1 22 3
2 140 2 —140
18 <120 18 120
16 | 16 |
14 E 100 14 B 100
12 -80 12 180
1] 1 1 |
08 E 60 08 B 60
0s 40 os 40
0.4 ] 0.4 |
02f | L 20 02 —20
% A_‘Lo‘zf‘ ' 0.‘4 e 0‘6 e 0.‘3 e ‘1 —0 % 0‘8 ‘1 -0
e T —r——————— s - \ w Jsop 3
_ 0 o 000289 3t
16E —1000t . ]
E ] s 140
1.4 7 E 3
o 18000 o 120
s 6000 o E ;go
0.8 ;7 ] 15 ; ]
06 —4000 F E 60
E 1 £ ]
E ] E 40
o4f 12000 E ]
0.2 ] 05 L 3 20
% -0 % B a6 o8 10
T T ] sop
- E 0 |
a5 —11000t #E . —J10001
F 1 F ST 1
o -8000 2 o q 8000
b 26000 15[ 6000
i 14000 1 4000
osf- 12000 o[- 2000
o F o o F L o
o I
e 1 120 1
ol 425001 s 25001
C | 11— ]
i+ —2000( F —20001
C ] 08— ]
oo —15001 E 15001
06 r ] 0.6 - 1
F 2000t F 10001
04l ] 4 ]
0of- 5000 02 15000
o 0 o g e s 10

150



P >an = | sop \ —ne = Jeop

o - o
14— _ ] il 16001
wb E N 3 14001
£ 20001 £ 12001
osf- ] g =10001
E El500( os? 7;8000
o “10000 "% 26000
o4 ] oab 4000
o {3000 o2f =2000
o e g 0 o —0
= ]sop 3 3
12 0.0025 ,)ile% 9
= =] — 22 - 5
i 140 2 —140
g 120 18 -1120
08— ] 16 ]
[ E 100 14 E 100
06~ 180 12 w -|80
C 1 1| = |
0.4 :— E 60 08 E 60
F =40 o6 =40
o 0
07 ' 4‘_7‘;612“ ' 0.‘4 “ 0‘6 B 0.‘3 B ‘1 ' ;0 00 ' 4‘_‘_012“ ' 0‘4 — 0.‘5 ' 0‘8 ‘1 ;0
T —r———| o - \ ~ Jeop 3
- 0 = 0.00377 %10
3sf 10000 L H 4160
N ] e —140
3 ~8000 2k -1120
o 6000 o 100
E ] E —80
15 4 150 B
E —14000 E —60
1; - 1; ! |
E 1 F =40
C - 2000 E 1
osf- ] st “ —20
% 0 % B} a6 o8 10
(ot wasiret g o v = 5 | sop
12F —10001 —1000!
i 18000 8000
0sf ] ]
F /6000 —16000
06— 8 4
E —4000 4000
04— ] il
02 —2000 —2000
of 10 1o
[ wm | SDP 3 [ 3
e 000354 THY <10
o —140 —140
g -120 120
e —100 <100
06~ —80 *; 80
E —160 —60
04— 1 3
r —40 —40
0.2 e ,; 20 *;20
of T e e 0 0

151



T — = P == = |sop

3
- 0 = 000473 1Y
12 7000 E g J140
C 3 3 J
osf- 35000 g 100
F —4000 2E 80
06— 3 E |
E -|3000 S —60
o4 52000 = 40
ol 1000 osf “20
% 0 of R gl g0
(oot o s s v =5 3 v g e | SDP
] . 0 |
22 7000 12 7000
2 16000 i 6000
16 —5000 os|- —5000
' 4000 f <4000
| 06— B

Y —3000 F —3000
0.8 | 04— B
06 —2000 F 2000
o4 1000 o2r 1000

% L0 % -0

] sop 3 3
x10 x10
a5 0 —200 18; —100
st -180 i ]
E 160 Lep —i80
25? —;140 12? ]
2 =120 10 —60
F 100 0sb ]
15? =80 os; —40

1E =60 = 1

—40 T 20
H =20 02 ]

L —‘ s os T os 10 o 02 oa o6  os 1 0
e per— = Jsop S R 3
2ar 0 *10 0.000048 *10
22F *:100 :100

2F 1 4
18F -180 £ —180
Lof- ] il 1
Laf |60 o 60
125 1 E 4

1? Tao 15p- a0
0.8 1 B 7
06F ] by ]

o4 R0 o5t 20
02 - 1 - ]

% 02 os os - os 1 0 o O R 06 o8 10

e = Jeop [ = = o

wE 0 B0 0 1800
b J16000 116001
i ~|1400( E —14001

£ 3 12 B
b —|12001 |3 12001

i3 1000 E —10001
o8- 8000 8E 18000
osf- —6000 *oF —6000
04 -4000 o4E —4000
02 . 2000 02f- —2000

o e e a0 7 S T S | S

152



= = ]sp \ —w )

3
0 - 0 x10
F 418001 16F 140
o ~1600! E 1
g 14000 f J120
T “12000 F —j100
s 10001 i 80
oo -8000 e 60
F 46000 °°F ]
04— ] £ .
i S4000 o 140
02k —2000 021 i3
o —0 B T B e
[ ] sop
] 0 J
22 J18000 22 . 18001
2 16001 2 16001
e J14000 14001
o 12000 4, =12001
12 —1000¢ 12 —10001
1 8000 1 18000
o8 26000  °° 16000
0.6 ] 0.6 3
o ~14000 o —4000
0z -2000 0z 12000
% o B 0
| Comparison of Mass 1
16 g E |
Wb 10001 2 =18001
E ] L8 ~|16001
12f 18000 Lo 114001
1= 1 "3 —12001
osE- jeooo 1000
06 4000 08 —8000
o0l ] 06F —6000
E 2000 04 —4000
0z~ ] 02f 12000
s —0 ol —0
oo [omsoms vt ot e g e | [EDP
E . 4= 0 =1
12 —1000! 12i —1000!
s 8000 L ~8000
ooF “ls000 osf- 16000
06/~ ] 06 ]
g -la000 E 14000
04— ] 0af ]
0ol 12000 ok 2000
ol —o 0 8 ‘1 —o
[
[
255 25000 sf 25001
. “20000  of ~20001
s 15000 sk 15001
i “1000! N 110001
s 5000 os- 5000
o o o N

153



e ——— e T e = Jsop

e
>

o
®
AR N L AR RN AR

16001 22 -
14001 2
12001 16
10001 14
8000

6000 08
4000 06
2000 02

25001
20001
15001
1000t

5000

H;
o

)

1600
14000 :
12001 25
10001 .
8000
6000
4000
2000 os

16001
14001
12001
10001
8000
6000
4000
2000

°
®

T [T T T T T O

I O A B N o P

T T T T T T T

Lo bbb b b b b

x10°

(
120 iy 1000

100 12
80 t
60
40
20 02

8000

6000

4000

2000

-
T[T T T[T TR T T T
o
%

T T T I T T T
Lo b b b b by

1000t 10001

8000 8000

~

»
)
T T T [T [T

6000 6000

4000 4000

-

2000 o. 2000

@

o
o

25001 25001

2000 . 20001
15000  os 15001
10001 10001

5000 5000

H;
o

)

154



e ——— e T e = Jsop

14 0 a E 0
E —1600 L n 52500‘
Ve —14000 [ ]
i <1200 i —20001
08 —1000t Mi 1
F ] E . \
ool 8000 i 11500
[ | 0.6— J
F —6000 F ~10001
04:7 7:4000 0.4 7
02 22000 ez 5000
ol =0 ol —0
[ [
22 16000 1o 1600
2 —1400! " ~1400
16 212000 1of —J12001
14 —1000¢ na —10001
i 8000 os 8000
08 6000 osf —6000
°° 4000 0af- —4000
. 1 E E
0z —2000 02f- 2000
of Jo o Lo
x10° [
F 1 2 1000
2sf <120 LoF ]
g 4100 “E 18000
2 1 1.2; 4
WE =80 = 16000
F 60 08 ]
E 1 E —4000
1: j40 DvBE ]
L 4 04— b
E 1 E —2000
USE 7:20 02— ]
o Jo of ——0
- ———— = Jop e
35 0 B E |
E —11000! ta —1000t
3? ] 12~ ]
na ~8000 E ~8000
o 6000 osf -6000
“F Jdaooo  °°f —4000
e ] o4 1
osk —2000 F —2000
| ] 0,2? ]
of L o oF L o
x10° [
225 —120 1af- —7000
2 B C 3
18 -1100 L2 E
16 350 = =5000
14 ] I il
12 :60 05;* *;4000
o ] o8- 3000
UG 40 0af- —2000
0s =20 02 1000
% e HNEY 1 S N (] % 0

155



e — = Jsop \ p— = Jsop

S & . K
L B A

IS

N

7000
6000
5000
4000
3000
2000
1000

au o
o O
o O
o o
o o [T
> ® n B

o
=

o

S RO | S ' R Y
0.2 0.4 0.6 0.8 10

e

0 7000( 35 1800
16001
14001
12001
10001
8000
6000
4000
2000

o
[}
O
s
=
w

5000¢ 2.

2l

A
S
S
=
o

3000( 1.

)

i

[
o
s
=
-

I

10001 05

T T
| IR R N E N N S
S N N N NN NN N

t

o
N
o
kS
o
>
o
©
-
o
o

N RN ® ® s N B O
AR A EA RN RN R AN RN RA RN AR

o

x10°
160
140
120
100

0 18001 a5

w

25

e
S
s
=

~

-

Lo oo bbb b e b
o)
o
o
o
-
o«
Lo bbb b e b
o]
o

@ @ I N >
I T [T T[T T[T

S

~

1600t 14
14001 12

o=
)
o
=

-

NS O O W N i P EY
2]
o
o
o
o
®
T T T [T T [T T
| TR NN R P A N AT
o]
o

— TR 5

P 3
000351 *10

S % o
T T T T

=

~

18001
16001
14001
12001
10001
8000
6000
4000
2000

140

~

=

| I O U N NS P PR A
o)
o

P RS S | RS SN RO |
02 04 06 08 1

156



S

E
8
o
£
H

o N w o
AN RN R AR R AR AR AR RN AR

o

@

e Jooor s 10001
& 0 ] 12 ]
- —8000 i 8000
r 9 ] 1= ]
i b —6000 08l 46000
r Jaooo  ooF 14000
] 04f ]
-2000 F 2000
] 02— ]
] E A

PRI = e I H R S BRSO P PR I e S R SR B
0.2 0.4 0.6 0.8 1 0 0 0.2 0.4 0.6 0.8 1 0

| sop [ E [ ~ Jsop

L —

0 0

o ~ o
T T T T T [T T

e

o

1000 25001

8000 s 20001

6000 2 15001

4000 10001

2000 5000

N
RN RARN R LA EARN RN A A LA

-

o

16001
14001
12001
10001
8000
6000
4000
2000

1600t 22
1400t

1200t 16
1000t 14
8000
6000 08
4000 06
2000 02

5 o ©® o N N O
ARNRARN R AR AR AR RARN RRANRARR R

N

o

1600t 16
1400t 14
12001 12
1000t 1
8000 08
6000 06
4000 04
2000 02

10001

8000

6000

4000

2000

o ® s N
ARA RN AR AR RN RN RN

=

~

16001
14001
12001
10001
8000
6000
4000
2000

2500t 16

%
N

-
RARRRR R AR AR AN RA RN AR RN AR RN

2000¢
1500t
1000t 06
5000

157



E— = Jsop e s

r 0 ) 0 )
160 ~ <1600t 22 —|1600!
| | 2 |
Laf- 14000 —14001
12F 412000 1e —12001
= —10000 10001
E | 1. 3
o.a? *;8000 i *;8000
osf —6000 08 —/6000
04 54000 o —4000
02 =2000 02 2000
oy —0 s —0
[
1f- “10000 M 7000
E ] 12F 3
: 18000 g {6000
12; 1 B —5000
1; 6000 08l 4000
08— ] E 3
06l da000  *°F {3000
0af ] o4 —2000
3 ~2000 oo 1000
o -0 of Jo
[emoms x10°
25 41800¢ 35F 180
g 116001 of T 3160
o —|14001 3 3140
- —12000 % 120
1 —|1000( e <100
£ —8000 155 égo
c 6000 £ | =60
osE- -|a000 E —40
F —2000 oS . =20
% -0 O or T oa os  es -1 0
pe— 3 [ermmermnan s e e | SDP 3
<10 12 0.00918 *10
22 180 F - —180
2 160 1= | =160
8 —140 s —140
16 E 08— B
iy 120 F 120
12 —100 06 =100
1 180 F —80
o8 460 oap —60
0.6 | r 3
04 —40 02 —40
02 =20 F =20
05 -0 [ —0
[
18- -10000 e 16001
eE 1 1af- —1400(
e 48000 b 12001
“E /6000 = ~ 10001
ook 1 osf- —8000
o ~4000 osf- —6000
23 Jeo00 54000
02f ] 02F —2000
o e T e s s 10 o —0

158



— ere—— ] sop \ ] sop

3

= 0 :1300( 12 0 )é%
e 316001 i3 ] 3200
16— | C
iy E1400( F 160
o —1200¢ 08~ 140
1; —1000( sk 120

E —8000 C 100
3 ] g 80
23 0000 e 60
04 L 754000 02~ 40
02F- y —2000 [ 20
o e e e s 1 0 o oz e tas e 1 0

49 Decay Channel: T~ — 1 1T 1T T T Wi

Number of events frongenerator 1193779

Number of events from 2193769(scaled to generatorl)
I ass() o = oo g gammanas | Spp [ Comparson o ass(1) of i el > i-pi-pi- i i gamman | Spp
= 0 - 0
e - 22000 % . 22001
b 20001 sE & 20001
E 18001 oL 1800
25 16001  25E 16001
£ 1400 JE L 14001
F 1200 3 12001
15 10000  1sE- 1 10001
E 8000 E 1 8000
3 6000 I 6000
osk- 4000 s D o 4000
g 2000 g W 2000
0 08 10 N I Y S o8 10
Comparison of Mass(1) of pi- i+ in channel au- => pi- i- pi- pit pi* gamma nu_tau | sop [ comparison of Mass(1) ofpi- i in channel tau- => p-pi- pi-pi piv gammanu_tau | §DP
0 0
22 20001 E } 220001
E| 25— S5 3
2 ~|18001 F 1800
10 16001 i3 1600
16 {14001 g 14001
14 412000 ,F 12001
2 —1000! r —1000!
o -8000 A —8000
o 6000 F <6000
04 4000 osF- <4000
02 . <2000 E <2000
% . . 5 s 10 o —0
Cmnp:mim\ of Mass(2) of pi- gamma in channel au- => pi- i- i- p+ pi+ gamma nu_tau | SDPO X103 [ companson
= —180 s 118001
i —|160 e —1600!
12~ 140 L =14001
L 120 N —1200
0sE- 100 b <1000
o 80 E 58000
E 60 .3 16000
s 40 o4 —4000
oz~ —20 02F —2000
% o2 o4 o6 os 1 0 % as 10

159



‘Comparison of Mass(L) of pi- pi- in channel tau- => pi- pi- pi- pi pi+ gamma nu_tau

] sop

2.2
2
18
16
14
12
1]
0.8
0.6
0.4
0.2
0,

0

Comparison of Mass(1) of pi- pi+ in channel tau- => pi- pi- pi pit pi+ gamma nu_tau

] sop

1

1

1

0.

0.

0.

A 5 ® - N Ao
AR RS LA RN R R LR RN RN AL

N

o

‘Gomparison of Mass(1) ofp- nu_tau inchanneltau- => pi- i-ppi pi+ gamma nu_tau

3

2

1

0.

[ L R R ]
RN R AR RN AR AR AR AR

@

o

Comparis

on of Mass(1) of pi- pi+ in channel tau- => pi- pi- pi- pi pi+ gamma nu_tau

] sop

18

16

1

S

1

N

o
®

0.

>

0.4

0.2

o

0

‘Comparison of au => pi-pi pi Ltau

1

1

0.

0.

0.

> ® . s
T T[T TT T[T [T T

kS

o

0

1800t
16001
1400t
1200t
1000t
8000
6000
4000
2000

[ comparison of Mass(1) of pi- p+ in channel tau- => pi-pi pi-pi pi+ gamma nu_tau

] sop

2
18
16

IS
N

o
=

-
RN AR LA R R RRAN R LA LRRR AARN

i ] T
0.2 0.4 0.6

0.8

[ ot Wt ol e - e

] sop

22

2
18
16
14
1.2

1
0.8
0.6
0.4
02

00‘

[ comparison of Mass() of pi- pi= in channel tau- => pi-pi- pi- i+ pi+ gamma nu_tau

] sop

18
1.6
1.

Iy

12

0.8
06
0.

=

H
RN RN RN RN R R R RA R RAR R RAR

0.2

0,

[ omermone ety ot e e 3 5 e

] sop

22

2
18
16
14
12

1
0.8
0.6
0.4
0.2

%

0.2

0.4

[[comparison of Mass(1)of pi+ pi in channel tau- => pi- pi-pi-pit pi+ gamma nu_tau

] sop

35

= I
N o w

-

160

0

0

0

TR TR R S R 1
0.8 1

20001
18001
16001
14001
12001
10001
8000
6000
4000
2000

x10°
180
160
140
120
100
80
60
40
20

20001
18001
16001
14001
12001
10001
8000
6000
4000
2000

x10°
180
160
140
120
100
80
60
40
20

22001
20001
18001
16001
14001
12001
10001
8000
6000
4000
2000
0



‘Comparison of Mass(1) o i gamma in channel au- => pi- pi- pi- piv p+ gamma nu_tau

] sop

3

o

w

2

2

~

1

@

o

0.

@

0

Lo b e b L
¥ 0.4 0.6 0.8

0.2

‘Comparison of Mass(1) of p gamma in channel tau

=> pi-pi- pi-p pit gamma n_tau

] sop

2

2

~

1

o

e

0.

o

0

Compersor

1 of Mass(1) o gamma nu_tau inchanneltau- => pi- pi- p-pi i+ gamma nu_tau

22

~

18
16
14
12

e

0.8
0.6
0.4
0.2

0,

:

‘Comparison of Mass(1) of pi-p- pi+ n channel au- => pi pi- pi- i+ piv gamma nu_tau

] sop

3

@«

S

2

2

~

1

a

»

o
@

o

N
0.2

0.4 0.6

!

0.8

0

LS| R

=> pi- - p- Ly

3

o

w

2

2

~

1

o

e

0.

@

o
=

0.8

5 [ Comparson of Wass(t o e s n channl = i - i i gamma iy | sop
x10 - 0
—180 25 .
—j160 wE [k
140 16
—120 14 E [
-|100 1i§ |
-80 E
E 08
E 60 06 9
E 40 0.4 r L
=20 02 .
-0 % 0.2 T
1P e ] o
180 Laf
=160 12
—140 E
4120 ks
—100 o8-
—80 06
—60 5
E 0.4
—40 r
320 02
o of
R B e e e e T mpo
—160 18
é 140 1,6? e
7; 120 14 2
100 “E
-80 £
B 0.8 ;
E 60 06—
—40 0af
—20 02F
3 O 0, E
[
16001 =
—1400! L4l
J12001 12F
10001 i
~8000 0sE
*;6000 06—
—4000 0af
—2000 02f
3 O 0, |
T T ———————
22001 LE 0
2000t “r
1800t £
1600t F
14001 08—
1200t F
1000t 06
8000 E
6000  °f
4000 osb
2000 F
0 ol

161

[

18001
16001
14001
12001
1000t
8000
6000
4000
2000

18001
16001
14001
12001
10001
8000
6000
4000
2000

16001
14001
12001
1000t
8000
6000
4000
2000

16001
14001
12001
10001
8000
6000
4000
2000

14001
12001
10001
8000
6000
4000
2000



Comparion o Vs a5 e =i o 5 gnmani | Spp \ o |

F 0 16000 wf 0 16001
14E iy ~|14001 e —14001
12F roL <12001 £ 12001
i “1o000 b | —1000(
o8- <8000 F | L —8000
o5 “e000  "°F | L 6000
04 -j4000 *E i il —4000
0z 1, 12000 oz - : ~|2000
o) S 4 y ‘0.‘8 | ‘;0 0’ - \0‘2;_1_1_0‘4_1_1_1_0.‘5_1_1_1;0‘8 TR \1 ‘;O

TS ] sop [ comparso of wasst) ot - o e > - g | §DP
asf- 0 22001 °F o

LM 20000 a8 e

E L 18001 16 =1200!
as L 16000 14 ]

E L 1400( b 1000
2 | 12001 i —8000
L
e [W— 6000 oo —4000

E . 4000 04E ]

3 h 2000 o2F 2000

0 B O S S % 10
Conparont ey pe g n v as o o g g |/ §DP I
v 0 _1eo00 g ~20001

F -|1400( Laf- 18001
T J12000  ren Eiigg:
oo 10001 i 12001
osk- 8000 08l —10001
ok <6000 osf- —8000

- E E 96000

. — 04— 3
ook 14000 F —4000

g <2000 oz —2000
of 30 oF L jo

Compaton o as) s i channe = it e e amman s SDP I S| SDP

E o oF o 20001
o . —14001 b s —18001
14 12000 aef —11600!
12;7 élOOO( 14F *214001
BB 1 12F —1200(
ook 8000 e 110001
F —6000 osf- —8000
0ab- H4000  °°F 6000

E ] 04F —4000
02f 32000 o2 <2000
% BT of g0

0 = 0

°E . NP ~J18001
3 r ] wE L —~1600!
165 —1200¢ ok FoL —1400(
“; *;1000( 1A§— o 1 *212001
e dso00  2F 1 “10001

E ] 1= e =
0sE- 26000 o4F C -8000
osf- Jaooo ook L <6000
04 ; E 0.4 ; r : 7; 4000
"3 <2000 o2k L —2000
% s 10 S RN S

162



Comparion o Vs a5 e =i o 5 gnmani | Spp \ o |

oF O 16000 1f o 1600
b T <14001 na 14001
3 roL <12001 12f- ~ 12001
£ L <10001 i 10001
o8- <8000 osf- ~|8000
osf- —6000 osE- —6000
oaf- -j4000 oaf- —4000
0zF- 12000 oz —|2000
o SR ;‘_‘_.A_‘_‘_‘_A_‘_‘:;.\B‘ TR R of gh Lo
T = sop [ Comparion o wasey o - ot = - i i amram || SDP
o 0 o000 g I
Wb 9 2000 waf —14001
E 18001 F E
12 16001 1= {1200
= 14000 b 10001
0'8; 1388: 06; 7;8000
s 8000 6000
0al 6888 o4E —4000
o2 - 2000 T 52000
o s 0 o =0
Comparion ot s i e e s = o 5 pe o g | SO I | sop
asf B 0 1600l F o 000
£ Iy —14001 1eE —18001
g ro J12000  ME <1600
25 / L E 12f =14001
o r L - Looor e =12001
N | L 8000 osl =1000(
E | - —6000 wob —8000
1 1 °F —6000
£ il L —4000 0af- 3
o5 ] o000 i 54000
E - L ] 02 = E 2000
0 02 0.4 o5 o8 0 % 0
ot o Vess) e v e o e | SDP I =sw s | SDP
= 0
i - ] 2 % 20001
*E " En 18001
14F —1200¢ 18 —16001
12 51000‘ 16 —14001
i3 ] 14 —12001
i ESOOO 1.21 91000
ok 6000 o —8000
0ab 4000 o =6000
E 32000 04 —4000
02f 1 02 —2000
% BT % os 10
F 0 F 0 18001
16F- E E — E
b E ol T ! 16001
e J12001 veE 0L —14001
i3 10001 e —12001
i 8000 TITTTT 51000
81 ] 08— —8000
ook ~|6000 0sE- ] 6000
04f- €4000 0.42— 1 L €4000
o2l <2000 02F o —2000
o) —— e e ] ol \41_1_0‘2_1_1_1_0‘4_17_‘;‘0.‘6\ PRI R \1 0

163



Conparsont Nassy e pnrmet s = oo e g | §DP [ Commreontvassi o - gumain et = o e o] SDP

14 0 :1600( o 520001
g J1g000 7 gt 118001
12— — L =
; “12000 1o L 51600
1 1 16 L —1400(
ok —1o00t I <12001
g 7;8000 12 r L —10001
osE- -6000 . T ~8000
g g <6000
04 —4000 06 1
g 1 <4000
ozf- 2000 os 2000
L B e W Ty s s
. o a5 %2000
Ll s {14001 £ L —1800!
of —{1200( E 16001
s “10000 L 1400
F 1 3 =12001
osf 8000 F r ] —1000!
ool “6000 " L ~18000
oaf- —4000 i T 36000
£ 1 osb- L —4000
ozl 2000 s <2000
0 R &2 0.4 0.6 - 0.‘3 B ‘l ' 70 0 0.2 0.4 - 0.‘6 0‘8 B ‘1 ;0
Comparo ot ey o v = e o i m ] SOP [Compar o Masstt o g e = - e g ms |G
0 0
E 1 F —1800!
2sf E 1400t 12— F —1600t
E 12001 £ 14001
’E “10000 b 12001
b 8000 g L0001
g “6000  F 38000
T ] ol : 6000
osb 34000 g ol 4000
B 2000 oz b <2000
% 10 B ¥ 7 S B S ()
Comparion o Vet i g el = 5 p e e | SDP [ Comparoon st o e o e s = 5 e | SDP
O L2200 F o
= M 20000 ME 1400
15 18001 12 —12001
” 16001 g ]
14 1400( R —1000!
o 12000  osf- 18000
( C |
" B0 “6000
0.6 6000 0.4~ —4000
04 4000 £ ]
02 2000  *°F 2000
% o1 0 % ez 04 10
oF O 1800 s ® 1800
Wl 4% =1600! - ~|16001
e L 14000 EoJ L =14001
E ] 25F 3
we | 12001 I 212001
N . <10001 o 1 —10001
osb [ ~8000 sE 18000
osE- —6000 B —6000
b | L —4000 Eol 1, 14000
0z 1 —2000 oo L —2000
2 B 0§ e s 0

164



ComparsotNassty i v = o e o] SDP [ ConvaisonctHassirat - o e vt s = e e anra i | SDP

22 0

. {16001 F —16001
g ™ “14000  F 7 14001
= 12000 1eE [ —12001

081~ —10001( 14 ] ;! —1000!(
C 1 12 L 7

osf- ~8000 £ Jo ] ~|8000

ol 6000 08l - 7 6000
F —4000 0E T T —4000

02— ] 0.4~ i 7
E —2000 0ok B 2000
o -0 ] 06 ag 10

v [ Compaon of e f - - T chart = g i i gamma |G
F 16001 £ o

e “1a000 f ~ 14001

iy “12000 M —12001

i “10000 F 1000
E 1 1= ]

1? *;8000 Mé —8000
‘;z: ~6000 ook 6000
3 =4000 0af- 14000
02 —2000 02f —2000
of -0 ol 0

‘Comparison of Mass(1) of pi- pi- pi* pi in channeltau- => pi- i pi- iv piv gamma nu_tay | soP [[compatson of ass(t)ofp- - p+ gamma n chanmelta- => p-p- - i+ p+ gamma n_tau

E % L1600 g -16001
12— ™ ] Lef —14001

F E 1400 b 1
i d12000  F L2001
osf- —1000¢ £ —1000!
ool —8000 osf —58000

F —6000 ook 6000
04— | E ]

5 —4000 04l —4000
o2 <2000 o:f 2000
%o 0 o 0

Comparan o Wasa) ot - o e = i e g | SDP Comparion of Mass1of - g chanrt = - 3 i i garma || SDP

16 0 16000 e 0 1600

L4 r *21400( u;— 7;14001

o ~12001 12 12001
1 —1000 s —1000(

osE- 8000 oot 8000

06— *;6000 0-5;* —6000

oa- —4000 oaf- —4000

02 —2000 oz —2000
% o2 10 N 10

Compataon o as) 1 g i o el > - o i gammar || GDP [ oot e - o s - g ] sop

F 0 _1600! £ 0
12— 4 12— |

F 14001 F 3 —14001
i L 1200t v —12001
08— d - 1000t osf- —10001
osk- T - 8000 o5l ~|8000

F ] 5 —6000 E ~16000
04— 1 04— B

: ; 1 54000 : <4000
o2 I ! -|2000 oz 2000
B I 06 a5 10 o 0

165



Camparson il o e o e ma s | SO [Camvatson sty ot - g et = 3 e e gonramias | SDP

F - O eoor  uf ¢ 600
HE [ 14000 1of 41 14001
i =12001 £ 7 —L2001
osf -10000  E T L —10001
£ =8000 E L —8000
0.6/~ q 06— r 3
F 6000 F 6000
i —4000  *F | i 4000
02 2000 oz 7 1 12000
ol —0 ool 0.4 o5 os 10
; s oo s ol g ot - oo ganra e | 6P
L4 16000, 0 1600
1ol . -14000 b o {14001
£ <1200 £ —12001
F —1000! E 110001
08— 1 08 B
F 18000 g 18000
° “6000  *°f —6000
“E —4000  *F 4000
02 —2000 oz —2000
o o> 0 % 0
Compario o Ve o e e = o e e | Spp I | sop
E 0 1600l r o
b ] 18E —14001
= H B 14001 16 ;, ]
b —112001 1af —1200(
1; 10001 12p —1000!
0st 8000 e 8000
osE- “eo00  °F —6000
0af- J4000  F 14000
0zf- 2000 02f- 2000
o6 o o o 0
Comparon o et e e e e =5 5 g | SDP I = ] sop
= 0 16000 a5 0 1600
g ™ J14001 of i 14001
T “12000 7ok 12001
o8 {1000 E ] 4 —10001
F 1 £ 1
osf- ~8000 E P 1 8000
b “e000  °F ] 6000
F 44000 .3 g —4000
nz:— —2000 0.5;7 I 7 —2000
o 10 o e e e e 10
oot sy g e et e e war | SDP [ o sty ot - e v - e ___| SDP
E 0 - o 4
F = — 14001 F ™ —{14001
25— | C |
F —11200! 2o Fi —1200t
e 10001 e ] L —10001
15| <8000 s . T 18000
= -/6000 F —6000
- | 1 |
i I —4000 F 14000
s r ~2000 *F <2000
0, ISR I O‘B FI R 0 0, | \1 L ;O

166



Camparson il o e o e ma s | SO [Camvatson sty ot - g et = 3 e e gonramias | SDP

e 0 0

28 416001 B ) ;16001
g Y Tnao T ™ ~1400
2= = 9 ,:1200‘ M; —{12001
C i 5 b 12— 3

wsf ] L 1000 A 51000‘
E —8000 " 18000
e —6000 o6l —|6000

b 4000 0af- —4000
E 2000 02F —2000
) S T Jo ) s— gl gl

Lo 16001 F 0 16001

b L —14000  2f —14001

b 112001 W 12001
e 10001 0sl- ~|10001

o8- ~8000 ok 8000

osf- ~6000 F 16000

oaf- =4000 “F 4000

02f <2000 02r —2000
o oz 0 o 10

L4 0 16000 waf .

e 14001 ol —14001
= 112001 s —12001
g ~ 10001 F ~10001

08— 1 08— |
F 8000 r ~|8000

%o —6000 *oE —6000

oaf- —4000 P 4000

0z~ —2000 oz 2000
ool 10 o 10

Camparion a0 f 1 i e et i => i s g ms | SDP I

a5 0 _1e000  F 16001
oF T —|1400( F 14001
E g 4 14— B
E Aoy 1200 E 12001

25 L | 1.2 3
E [ —1000! £ —10001
e | L 1 E 1
E L ~8000 osE- ~-|8000

r T 1 6000 osf 6000
. i L <4000 oaf ~4000

05— d L 2000 02f- 2000
% 02 - 0.4 06 08 0 % 0

Commrant Vi o g o e ||G0P
E 0 | C —

25— 11400 1aF *;14001
oL 212000 af 12001
F —1000t = —10001

vE 18000 osf ~|8000

i 6000 o[ —6000
F 44000 0af- —14000

05— 4 e 1
F -2000 02 2000
0 | O‘B T S I R 0 0, | \1 L ;O

167



Conparsont Nassty i i g e = o e g | SDP \ T o w |sop

F 0 1600 s 0 1600
HE o 14000 7 —1400(
Ve 412000 ef —j12001

e J10000 2 10001
o8 —8000 i3 ~-|8000
osf- Jeoo0 o 6000
04 4000 F 4000
02~ 42000 o.f —2000
o “o o gy 0
\
e “uoocF i 1400
s —12001( F 12001
. 10001 i ~|10001
08~ -|8000 15[ —8000
o8- —6000 £ —6000
o4 —4000 g 4000
ozf- Jeocoo  *°F —2000
o —0 o 0
(oot e o1 - et = o e e |[65P

r | 16— 0
e 1400 E —2000
12 ] L4 —18001

E -pz00c L E —16001

i 1000 £ —14001
o8- E g {12001

g 18000 os ~|10001
o8 *:6000 06 —8000
04 4000 oaf Eiggg
02 22000 oaf 2000

ol A 0 ol 0\2 —=0
\

- c 22001

= 116001 F
“t 18000 20001
12 Jac0r 18001

s “12000 16001

g ] 8 14001

C - ( C
08t {Lo00 1 12001
ek ~|8000 osE- 10001

g 6000 6L 8000
04— ,:4000 04l 6000
0ok E g 4000

g <2000 oaf 2000

ol | O = L
25 416001 35
g gt 14001 s
’r " -12000 .
wof T <10001 ,

E | 8000

C L 1 15

= 5 i =6000
sl T L 4000 !
g T -2000  os
L R 0.6 0.8 10 o

168



T ——r————— \ ;
= |sop

18

Lo ™ 00 o e
LaE S12000 F E bty
b 51000( 1,2? *;12001
= E = —1000t
i —8000 osb- e
E 6000 g Ereess
N E4000 ya Eyod
Z : ] o —4000
- ~2000 02f- —2000
0 =0 s T Jo
ot a7 o e i o | SpP \
- 0
£ N 22000 F 116001
" 20001 “F &
Lo 1800 12F a0
y 1800 13 12001
Lof 142188( E —1000!
E ( 08 7
oF 10000 ,.F ~Bono
.
04E- 4000 N3 34000
oot | 2000 ozf- —2000
0 L0 o L0
12— 1600t [ |
f “14000  PE o
piae ] £ 3
g “12000 i 51388‘
08— ] E E '
E 10000 40 ]
oo 8000 : o000
b S0 3 Eet
- : ok —6000
N3 14000 i 4000
g -2000  °% 2000
of gl {0 of ——0
- T ———— . -
£ 2000 0 1600
w
£ 16000 1af I 200
@
e 12000 b 8000
b 2888 o *;6000
N3 4000  F 7400
T 2000 oz 2000
02 1 0 0 02 0
[T —————————— SDPO [ty o g o v o v e ranims | [SOP
Lo - 16001 35 0 ~1600!(
s Y 14001 £ It 214001
128 I 5 3 £ L |
g 71 12000, F ¢ —12001
1= e - E r 1 ]
0 : ~ :lOOOl £ —1000(
81— r N - E 1 ]
.3 ] I 18000 o d <8000
oo ] —6000 g | ’ —16000
r - L 3 1= Ty 1
DZ; J E4000 g T 7:4000
; | 2000 osf- —2000
of 1 \2 T o T e [ ) T T B sl RS S WS 1
. 0.6 0.8 0.2 0.4 0.6 08 ‘1 —0

169



Comprison of Mass(1) of p i g i Gamma i chane - = pi-pi- i pi i gamma o

2

1.
1
1
1

0.4
0.
0.
0.

2
2
8
6
4
2
1
8
6
4
2
0,

o

1

1

1

0.

0.

0.

N R > ® e v s o
AR RN RAR RN R R AR RAR AR

o

1

1

0.

0.

0.

2 o ® n N
T T[T [T T[T T

N

o

fson o Mass(1) o - p- i pi p- ar

1

0.

0.

> ® i
L B B B B R

S

H

0.

0.

0.

= Y

N

[ ot et t - e st e e e |JGDP
16001 ssf _
1400 s ¥
1200( 250 J
1000t B 4L
8000 n r
6000 s
4000 i3 ]
2000 05
0 07\\\0\2\\\‘\;‘_}_1_1_1_0‘8_1_1;\‘\
[ o g | SDP
1600 14
1400 e F
1200t £
1000t F
08—
8000 F
6000
4000 M
2000 021
0 07 0‘2
oot oo e g e o] SDP
1600t 22
1400 2
2000 7
10001 14
8000 1j
6000 08
4000 06
0.4
2000 02
O OD e 0‘2
ooy o o o resmmammotos o o oo i | SDP
22;
o
18 ;7
1.5?
1v4%
1.2;7
1=
08f-
0.6;
U.A%
DYZ%
°F

170

22001
20001
18001
16001
14001
12001
1000t
8000
6000
4000
2000

16001
14001
12001
10001
8000
6000
4000
2000

16001
14001
12001
10001
8000
6000
4000
2000

x10°
180
160
140
120
100
80
60
40



Comparison of Nass(1) of pipi-p i Gamma it i channel - > i - i pr gamma o

18
16
14
12

08
0.6
0.

kY

0.

N

,_.
T T I T I I I T
SRR AR A S AR R A

TR | A
02 0.4 0.6 0.8

)

P gamma n_au

3

o

w

2

@

n

1

o

-

0.

o

P
1

22001
2000¢
1800t
1600t
1400t
1200t
1000t
8000
6000
4000
2000

2200(
2000(
1800t
1600t
1400(
1200t
1000t
8000
6000
4000
2000

50 Decay Channel: 1= — K K1 ywy

Number of events fromgenerator 1167331(scaled to generator2)

Number of events from

[ comparison of Mass(1) of K- K in channel tau- => K- K+ pi- gamma nu_tau | sop

14 0

1

N

-

0.

>

0.

S

0.

N

R R
0.2 0.4

‘Comparison of Mass(1) of K- gamma in channel tau- => K- K+ pi- gamma nu_tau

] sop
0

1

S

1

i~

-

0.

>

0.

S

0.

N

“o2

(- = PR
. 06 0.8 1

2400(
22001
2000(
1800t
1600t
1400t
1200t
1000t
8000
6000
4000
2000
0

140

2167366

r 0 24001
14 A 22001
F A 2000
L2 d 1800!
A= Ll 16001
F ] 14001
e ] 12001
06 | 10001
F ] 8000
oaf d 6000
02f- T 4000
F F 2000
Y I 08 10
= Ty a0
r —200
i - —180
r —160
08~ —140
F =120
oo —100
0l =80
L —60
02| —40
E =20
0 ' G.‘Z B 0‘4 B D.‘S B 0‘8 ' % ' ;0
[ comparison of Mass(1) of k- pi- in channel tau- => k- K+ pi- gamma nu_tau | sop
r 0 125001
12— - il
1* —|20001
os- 115001
06 .
L —1000t
04— 7
o2 5000
A 7 ofei‘ B S |
[ Comparison of Mass) o K- n channe o = K. Ko - ganmamtas | P
c 0
18F - 22001
16 f— A 20001
E 18001
E 10 16001
L2 1400
s —— 1200
08F 1000t
08 d L 8000
oab 6000
“F 4000
02E 1 2000
0 B B v E— o8 ——0

171



Comparison of Mass(1) of K+ pi- in channel tau- => K- K+ pi- gamma nu_tau | sop [ comparison of Mass(1) o K+ gammain channel tau- => K- K+ pi- gamma nu_tau | sop

3
- 0 = o x10
i3 . o n ~160
18E il —5000( = =140
16 B £ 3
3 “40000  25E 3120
12 i— 1 i *; 100
3 i a0 CF 80
(3 20001 g —60
3 1 ] i3 I 40
0.4f- - g ( E 1
e | {1000 ook 20
ool o O T o o e o a1 0
Compareon o W) 9K el - gmma | SDPO \ cﬂm.‘im S ot g e K K e SDPO «10°
12 = —2000! b —160
I h 18001 g =140
E ~1600! 12 E
sl 14001 N 1120
F — 1200t wsb —100
o8 ~1000! g 180
E {8000 osF 60
o4 —=6000 0l S
sl 4000 F E
r 22000  °*F 20
0 3 0.‘2 ' 0.‘3 B f‘l - 0 — = 0‘2 B 0‘4 B 0.‘5 B 0‘8 B i ' ;O
Comparem ol Vasst) o p i et = K K o g o w | §pp [Comparson o st o garma o chamer v = k- ganmancas | $pp 3
F 0 | 221 0.013 )ia%
12 E 2f 3
; ja000 - 7E H120
1:7 *21200( 16 ; ,:100
0sl- J10000 EM
g 6000 os- 460
o -4000 oo —40
0o 2000 ot 20
07 0‘6 0‘8 ‘1 ;O % — 0‘2 ' 0‘4 0‘6 ' 0‘8 ‘1 ;0
Comparison of Mass(1) of K- K-+ pi-in channel tau- => K- K+ pi- gamima nu_tau | sop [ comparison of Mass(1) of k- K+ gamma in channel tau- => k- K+ pr-gammanu_tau | §DP
oF 0 . 24 0 24001
E 1 B 22 0 22001
1aE L 25001 2 20001
12 J 1 18 18001
E L E 2000t 16 1600!
= ] 14 14001
sk —1500¢ 12 1200!
£ ] 1 10001
06 —1000t 08 8000
0ab- 1 0s 6000
02l —5000 04 4000
g ] 02 2000
° B P -0 L T 10
oo o e T K K e = ko ] spp [ Comaioon o vasst K gamma e ar =K k-5 g ] spp
E 03000 F 0 25000
18 5 1 12~ - ]
16; {2500( 1i ;2000‘
vE Je0000 b 1
12 1 E —15001
= —11500( ool ]
o8- 1 F —10001
06 L 3 10001 04— .
04 “5000  oof 5000
02 i L 1 C ]
| N 0 o 10

172



Compatan al ass ) ol K- - charmel > o g e it /S [ omman ot sty . g st = ke o] SDP

E 0 18F 0
18- _ —2000¢ E . 2200
1o ML —1800! Lo 5 20001
14 r —1600( 14 ;7 i 1800!
b r —1400( 12 g 16001
i r 1 12001 e [ iggg‘
g ~|10001 E |
o8 48000 08 r 10001
06 r 5 26000 06— ] 8000
o) [ la000 o4 [ 5000
g 3 g L 4
02F r —2000 02 2000
ool e 056 o 10 - ] o os 10
Compaeon e oK - e e K ke e &Dp [Comparman s st are - o naromera = epoammamar ] 0P
24 (0] | 24 0 30001
22 3 6000 22 . 1
2 Bl 2 —25001
18 ] E 5000t 18 3
16 1 16 —20001
14 7:4000‘ 14 ]
12 ,:3000( 12 —15001
1 — ] 1 1
08 ,:20001 08 —1000t
06 B 06 |
04 —{1000¢ 04 —5000
02 ] 02 ]
oo o o5 g1 0 o o o8 0
oo A+ e s = ko i m|[GBP T e
1 _ %000 F o
r 4 18001 2 " —|1400!
s <1600( = S —12001
osf- E 1‘2‘88: Wb | ~10001
o[~ —1000t sl —8000
ol —8000 F —6000
E —6000 o4 1
E E| L -4
02b- —4000 E 9 3 000
g “2000 |- <2000
o o2 as 10 % 0.2 oa os ' as 10
o e R p ra semear  em maw|[&5P T e 3
0 o x0
“E ) 3000 F 160
18 r —2500! . —140
16 E £ =120
E F A —{2000¢ £ 1
3 ] oo —j100
£ I —1500t 06— —80
oo Lo 10000 ol 60
E ] 5 —40
0.4f- 4 = 1
ook L 55000 0.2: 20
% B T ¥ ST Y T PR —0
T T I T ——"
= 0 8
16E N E3000( 15i N 120001
HE ] 125001 °E F L 11800
12 ] e <1600t
i —{2000¢ 12f roo —14001(
g ] i 1 —1200
o8- —1500t 0sE- 10001
06 B E ] 5 —8000
b E1000( oo | 6000
g “s000  °F p 4000
oz~ ¥ g E r —2000
A ¥ S | 10 oo 06 og 10

173



Compaona Wassy e g s e s o ganmanias | SDP [Compaan ot sy . K - gaar i == e ganmaran | SDP

x10°
24 0 30000 0 180
22 ] L 7
E 1 F —160
2 .| 1— Il |
i 12500 i E
165 20001 o —120
14 | r |
E 1 E —100
12 — ( 06— 7
i 11500 i 80
o8- 10000 oaf- —60
o6 1 E —40
0.4 —5000 02— 3
02 ; ] = - 20
o ol o S50 10 L 7 N
o 0
51 Decay Channel: 17 — KST[_TIOWT
Number of events fromgenerator 1156578(scaled to generator2)
Number of events fromenerator 2157318
[ Comparion of Wassi) o S0 - channe - > K_S0p o gamma miaw | SDP [ Comparsonof assd) o K_S0 0 m - = K_s0 0 gammano_tau___| Spp
- o - 0
“E B F —{14001
£ —1200( 14 3
i 1 E <1200
E 10000 e[ ]
25 ] £ —1000!
E 8000 F ]
2 ] 0ok —8000
1se ~eooo  E 16000
£ ~14000 odb- —4000
osE- —2000 02l 12000
0: D,‘Z 0.‘4 0‘6 0.8 ‘1 70 % 0‘2 0‘4 0‘6 0‘8 ‘1 70
Compation ) 1K S0 g n el K S0 pogamane | P 3 [ Compuraono Masst K Som o el > K S0 poganmaniis | SDP
x10
g ! S e g o 1800
2 1 12~ —1600!
A3 4120 £ Z14001
E 4100 r —12001
15 80 *°F {10001
E 160 oo —8000
i3 1 J10 0al- 56000
osf- 1 E —4000
F —20 o2F —2000
07“‘0.‘2‘%4 B S U o5z oo og 10
Comparson o Wass1) o p- i hamel i = K_S0pr-p0gammana_as___| SDP [ Comparison of Mass() o - gamma i hamel i = K_S0pr po gammani_s___ | SDP 5
241 0 | r 0 7)(10
220 —3000t e 140
2 3] E ]
o 25000 i 120
3 “20000 100
TE 1 08 3
12 15001 E 180
oot oot F E)N
BE = ( E ]
(= E o4 —40
o4E 5000 oaf 20
0.2 ] E 4
% 02 o4 06 08 0 o —LHT).ZL 04 06 o8 10

174



Comparison of Mass(1) of p- nu_tau i channeltau => K_SO pi- p0 gammanu_tau | §DP [ comparison of Mass(1)of i0 gammain channeltau- => K_S0 pi- p gammanu_tau | §DP

0 - x10°
16F 9000 18f —140
Lep- 8000  '°F 120
T 1 7000 M 100
ISP 6000 L2 ]
0af- L 5000 o 80
ok L 4000 o8- —60
ok | T L 3000 " —40
E 2000 04f- ]
02f 1 1000 02f 20
o 0.2 04 o os 10 o O R R
Comparoonof Wassi) o pomata i chane > K S0 po o ws | SDP [ Commeont vt o gama s marama s = k5o pogama | SDP A
e o 1000 = 0.0133 iﬁ%
12~ ! 1 it 1
i Jsooo “100
1= i 12F ]
E 1 E -80
osf- /6000 i ]
ol 1 osf 60
E —4000 o 1
0.4~ 1 o E 7 40
o2f 7:2000 02; {20
07 ' 0.2 0.4 —6‘6 B 0.‘3 B ‘l ;0 05 — - 0‘6 0‘8 ‘1 ;O
Comparison of Wass0) o K_S3 - plon channl - > K_S0 - po gamma miau__ | SDP I T e [
18p 0 | 35 0 |
a3 1 25000 oE 1200
1.4 ] E .
£ ] = — (
12— —2000t 2 51000
i 1 N 8000
3 —15001 E ]
osE- 1 s 6000
oe? ElOOO( £ “a000
o4~ -5000  ,.f 12000
021~ ] = ]
% 02 “oa -0 N 0
Comparian o ess) K 50 i vl S pogermarem | Spp [ Comparion o tess) 4 5070 g e wr = K 507 po e | SDP
3 R P R % 1400
E T 5 12000 1ef 12001
2sb roh —~10001 i 10001
e i L 18000 0| ~8000
18 F 6000 osf 16000
1; 3 4000 D.A; 4000
o5t L !T 12000 02 12000
e 08 BT o oz 0
Comparion o e K 5090 s maremetas = sop g0 e | SDP [Comparasn of et S0 g st = K 507 pogammarws | SDP
a o 18 0 1800
E 12001 16 —16001
t Swooor ME 14001
o8 ] 12 —12001
F ~{pooo 1= —1000!
0oF d L —6000 08 —8000
oaf I 24000 o8- | —6000
E - 1 04f —4000
ozt o h —2000 0z r o 12000
7 B 7 S e o ol o s 10

175



Comparison of Mass(1) of pi- 10 gamima in channel tau- => K_SO pi- pi0 gamima nu_tau

] sop

N

18
16
14
12

08
06
0.4

0.2

0

-
T T T I T T T T
R AR R A AR R

My Lol
0.2 0.4 0.6 0.8

Comparison

of Mass(1)of pi- gamma nu_tau in channel tau- => K_S0 pi- po gamma nu_tau

] sop

1

1

0.

0.

> ©® . Nos
T[T T[T T[T [ T[T

=

N

0

1

1

0.

0.

0.

> ® . o
T[T T[T T T T[T

=

N

§

fson of Mass(1) o K_50 p-garmma

3

2

1

0.

o N o w o
RN R AR RN AR AR AR RN AR

»

@

Comparison

of Mass() ofpi- 0 gamma nu_tau in channeltau- => K_SO pi pi0 gamma nu_tau

1

8

[ Comparson  Massty o i o chanrl > K_SO g o ] sop
24 0
3000 22 A
25001 18
16
2000 14
1.2
1500 A
10000 o0
5000 o4
0.2
0 0
[
24
9000 22 —
8000 2 -5
7000 18 - 1
6000  ° J L
5000 12 r L
4000 £l ’
3000 oE T
2000 - L
1000 02k | | L
O 00 ' 0.2 0.4 0.‘6 0‘8
[ Compron o Wassty o .50 o 1l m = K s pogammanims | SDP
30000 24 0
22
25001 2
18
2000 16
14
1500 12
1]
1000 08
0.6
5000 04
0.2
O 00“‘0‘2“‘0‘4“‘0‘6“‘
[ Comman syt 3270 g s = 5o pagmmanews___| SDP
= 0
1400 1.2} A
1200 £
10001 E
OEj
8000 F
06—
6000 E
4000 o4
2000 o2
0 o 02
[
1.2
20001 F
1800 e
1600 F
1400( 08
12001 WF
1000 F
8000 oal
6000 E
4000 0.2}
2000 F
0 L A | S

176

10001

8000

6000

4000

2000



52 Decay Channel: T~ — 1 KTy,

Number of events frongenerator 1156279

Number of events from

[ Comparsm o ety o Ko v e = i KL gamma e

~

18
16
14
12

e

08
0.

>

0.

=

0.

N

o

Comparison of Mass(1) of pi- gamma in channel tau- => pi- K_LO pi0 gamma nu_tau

2

o

~

1

0.

o

@«
L L L U R R

0,

T T Y N N Y
0.2 0.4 0.6 0.8 1

‘Comparison of Mass(1) of K_L pi0 in channel au- => pi- K_LO pi0 gamma nu_tau

] sop

1

Y

1

S

1

N

N

e
©

0.

>

0.

=

0.

N

o

0

22

2
18
16
14
12

1
08
0.6
0.4
0.2

0 0.2

1200t 2
1000t !
8000 08
6000 06
4000 04
2000 02

x10°

40

1400t
1200t
1000t 25
8000

6000 e
4000

2000 o

1800!
1600!
1400 1
12001
1000!
8000 08
6000 04
4000
2000

2156141(scaled to generatorl)

[ Comvaon Ny 5 g e = Koo g o

SDP

[ comparison of Mass(2) of pi nu_tau in channel tau- => pi- K_L0 pi0 gamma nu_tau

] sop

18

°
B 1
1
°
o
°
R
§
r
o
°
oF

[ Corpuan sty L g i  p o

] sop

35

w

SR BN
AR LA RN RN AR AR AR

o

) S A L = -

TR -
0.2 0.4 0.6

P -
0.8

[Compatson o1 of g chame o = KL gamira

| sop

12

177

0

30001
25001
20001
15001
1000t

5000




Comparison of Mass(1) of pi0 nu_tau in channel tau- => pi- K_LO pi0 gamma nu_tau
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54 Decay Channel: T~ — K~ 10w,

Number of events fromenerator 1123452(scaled to generator2)

Number of events fromenerator 2125907
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55 Decay Channel: T~ — K3 K2y,

Number of events frongenerator 150594
Number of events fromyenerator 250392(scaled to generatorl)
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56 Decay Channel: T~ — K10 Tthyy

Number of events fromgenerator 138674

Number of events fromenerator 238417(scaled to generatorl)
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57 Decay Channel: T — 1T YWy

Number of events frongenerator 133130
Number of events fromenerator 233086(scaled to generatorl)
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Comparison of Mass(1) of pi- gamma in channel tau- => pi- Gamima gamma gamma nu_tau
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63 Decay Channel: T~ — K~ K3y,

Number of events frongenerator 116340

Number of events fromenerator 216243(scaled to generatorl)
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64 Decay Channel: T~ — K100y,

Number of events fromenerator 114182(scaled to generator2)
Number of events fromenerator 214412
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65 Decay Channel: T~ — K~ Koy,

Number of events frongenerator 110044
Number of events fromenerator 29882(scaled to generatorl)
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66 Decay Channel: 1T~ — K~ Ky,

Number of events fromgenerator 19900
Number of events fromenerator 29897 (scaled to generatorl)
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76 Decay Channel: T~ — K~ 10y,

Number of events frongenerator 11052
Number of events fromenerator 21033(scaled to generatorl)
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‘Comparison of Mass(2) of K_S0 K_SO i channeltau- => K_S0 K_S0 pi- gamma gamma nu_tau
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82 Decay Channel: T~ — 1 KQyyywy

Number of events frongenerator 1193
Number of events fromyenerator 2151 (scaled to generatorl)
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83 Decay Channel: 17 — K~ KT 1T yyyy

Number of events fromgenerator 1175 (scaled to generator2)
Number of events fromyenerator 2176
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85 Decay Channel: T~ — K~ Ky,

Number of events frongenerator 1122
Number of events fromyenerator 2117 (scaled to generatorl)
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86 Decay Channel: T~ — K~ 1OmCyWv;

Number of events frongenerator 1110
Number of events fromyenerator 2103 (scaled to generatorl)
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87 Decay Channel: T~ — K~ Ky

Number of events frongenerator 1101
Number of events fromyenerator 2100 (scaled to generatorl)
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88 Decay Channel: 1~ — K2t mlyyyv,

Number of events fromgenerator 199
Number of events fromenerator 290 (scaled to generatorl)
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89 Decay Channel: T~ — N1 1PYWW,

Number of events frongenerator 188
Number of events fromenerator 273 (scaled to generatorl)
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99 Decay Channel: T~ — 1 Klyyyyy

Number of events frongenerator 12
Number of events fromyenerator 21 (scaled to generatorl)
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